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Question Number : 1 Question Id : 630680183955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Bharathi, Nithya, Pragathi, Ramya and Shruthi are sitting around a circular table facing the centre, but not necessarily in
the same order.

Shruthi sits second to the right of Pragathi.
Only Nithva sits between Shruthi and Ramya.

What is the position of Nithya with respect to Bharathi?
Options :

1 % Third to the right

2.« Third to the left

3. # Second to the left

4 % Immediate right



Question Number : 1 Question Id : 630680183955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ST, o, o, T 3 o O A 3 & R g ) 0 A g 38, o e
7 5 = wm a

e, e & gC & gR TR W A g

o 3 T & e 8 4

T & Wy # facw & Ry |

Options :

1. % EII'UREFT-?ITRT

5 8T H JET

Question Number : 2 Question Id : 630680183972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

L, M, N, O, P and Q are sitting around a circular dining table for dinner and facing the centre.
M is to the immediate right of N.

L is the immediate neighbour of M and P.

O is not between Q and N.

Whom among the following are sifting next to each other?

Options :



1. % MandP

2 % OandN

. Mand Q

4.« Pand O

Question Number : 2 Question Id : 630680183972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

L, M, N, 0, P 3 Q Tl & R @ i s &9 & i g 91 3% e g 43 €
M, N & & 2T 3a7 2|

L, M 3% P & fowream i &

0, Q 3N & & & 7 &1 31

AT & & 37 w7 & 1

Options :

1_$3M3-ﬁTF’

2 ® O 3T N

3_$3M3-ﬁTQ

4, v P 3RO



Question Number : 3 Question Id : 630680183989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Each of K, L, M, N, O and P has to join a meeting on a different day of a week starting from Monday and ending on
Saturday of the same week.

Only M has to join the meeting before O.

K has to join the meeting on Wednesday.

L has to join the meeting on one of the days after P.

Only one person has to join the meeting between L and P.

Who has to join the meeting on Friday?

Options :

1.¢ N

Question Number : 3 Question Id : 630680183989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.+ N

2. % P

Question Number : 4 Question Id : 630680183995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Five children-P, Q. R, S and T - live on five different floors (numbered 1 o 5) of a building but not necessarily in the
same order. Each one of them has got different marks in a test - 35, 56, 72, 81 and 93 - but not necessarily in the same

order.

R lives on an even numbered floor but not floor number 2 and did not get 72 marks,
S lives on the floor immediately above Q.

Two children live between R and the one who got 93 marks.

One child lives between the ones who got 93 and 56 marks, respectively.

Q got the highest marks and T got 35 marks.

Who got 72 marks?

Options :

Question Number : 4 Question Id : 630680183995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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ot T 78 & 50 R A @) I ¥ 0 A e # e 3% B - 35, 56, 72, 8
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Options :

1.2 P

2.4 S

Question Number : 5 Question Id : 630680176658 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the statements.

Statements:

I) Some rats are bats.

II) Some bats are cats.

ITI) All cats are dogs.



Conclusions:
I) Some dogs are bats.
II) Some cats are rats.

III) Some dogs are rats.

Options :

1. % Only conclusion I follows
2. ¥ Only conclusion II follows
3. ¥ Only conclusion III follows

4. * ConclusionI and III follow

Question Number : 5 Question Id : 630680176658 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fAfafEa st vd fAsest st earmgdes ufeq| ag 7 Sy fo et 7 & 715 STeep) Tt @ STafch ag I1a deat 4
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Options :

1. ¢ R fFreendf [ sl & SqER @

2. % 4t fAreend 11 st & SR @
3. ¥ It fAshy 11 el & AR &

4, % fepy 1 R fAshy 111 ST shyHl & SR &



Question Number : 6 Question Id : 630680184007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Six friends, P, Q, R, S, Tand U, are standing in a row according to their heights, the shortest standing first and the tallest

standing last.

Only P is taller than R.
Only S is shorter than T.
Q is taller than U.

How many friends are standing between S and Q?
Options:
1.+ Two
2 % One

3. % Zero

4. % Three

Question Number : 6 Question Id : 630680184007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

v &

Question Number : 7 Question Id : 630680150582 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the combination of letters that when sequentially placed in the blanks of the given series
will complete the series.

_bbc_dea_b_ade _bb_adea_bca_eabb_a_e

Options :

1. * cabccabddc
2. * cabbcabdcd
3. % abbccabdcd

4. % aabcacbdcd



Question Number : 7 Question Id : 630680150582 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

gull o IG TG vl Ia-1 hiford fd feg g auf siwer & Rh Wl & shffes w0 @ T8+ R siger g1t gt S|
_bbc_dea b _ade bb_adea bca_eabb _a_e

Options:

1. # cabccabddc
2. # cabbcabdcd
3. * abbccabdcd

4. % aabcacbdcd

Question Number : 8 Question Id : 630680184017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘DRIVER ' is coded as ‘RDVIRE' and “TRIANGLE' is coded as ‘RTAIGNEL', How will

‘BRIDGE' be coded in the same language?

Options :

1 % IRBEGD

> % RIEBDG

3« RBDIEG

4 % IREBGD

Question Number : 8 Question Id : 630680184017 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fit e 32 471 &, DRIVER' & ‘ROVIRE' 317 TRIANGLE' # RTAIGNEL' 3 ¥ # 57
o aman 31 o 38 AT A 'BRIDGE' & 58 &R e fawam e

Options :

| % IRBEGD

, % RIEBDG

5 v RBDIEG

4 % IREBGD

Question Number : 9 Question Id : 630680184022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘BAT" is coded as “TAB’ and ‘DOMAIN’ is coded as "MODNIA'. How will ‘BUDGET" be

coded in the same language?

Options :

1 v DUBTEG

> % TEGDUB

3 % DUBGET

4 % TEGBUD



Question Number : 9 Question Id : 630680184022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e fafi e &mwm &, 'BAT &1 TAB' & 9 & gea< (o 71 § 3K 'DOMAIN' & 'MODNIA' &
1 & Feag fbar 7 g1 & 3 s & ‘BUDGET &t fvw e Fieag o aeem?

Options :

| ~ DUBTEG

, % TEGDUB

5 % DUBGET

4 » TEGBUD

Question Number : 10 Question Id : 630680184045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Gagan walks 10 m southwards, then furns left and walks 20 m. He then takes a 135° tum rightwards and walks 30 m.
He then turns left and walks 40 m. He then takes a 45° turn rightwards and walks straight. In which direction is he

walking now?
Options :
1. % North
2« South

3. % East

4. % West



Question Number : 10 Question Id : 630680184045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

T 10 m g0 & 3 7o ¢, B a0 g3 ¢ 3R 20 m Te 31 P g @ Al 1350 A g
30 m T g1 B 9 a0 A5 ¢ AR 40 m = 41 P o e 3w 45° A i oA v
7o €1 & ¥ W o 99 @ 8

Options :

Question Number : 11 Question Id : 630680107092 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

‘Z + A’ means ‘Z is the son of A’

'Z & A" means ‘Z is the wife of A’
‘Z$ A’ means ‘Z is the brother of A’
‘Z + A" means ‘Z is the mother of A’
‘Z=A"means ‘Zis the sister of A’

IfX&Z$SA=Y+B=+7Z,then howis B related to X?

Options :

1. % Mother



2. ¥ Mother-in-law
3. # Father

4. % Aunt

Question Number : 11 Question Id : 630680107092 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Z+A R HSE'Z, ARG B

'Z&A HTHSE 'Z, AR Ul B

'Z$A RIIAHAE'Z, ART S &'

'Z+AH A 'Z, AR HET '

'Z=AH A8 'Z AR agT e’

gfe 'X&Z$A=Y+B+Zg a B, Xd g ysr d&fda &2

Options :
1. % #rdr
2. ¥ g
3. % fOdr

4. % 7mft

Question Number : 12 Question Id : 63068058057 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

‘A + B'means ‘A is the wife of B/,

‘A - B'means ‘A is the mother of B',
‘A x B'means ‘A is the son of B,

‘A + B"means ‘A is the father of B’



Based on the above, howis U relatedtoYif T+U+VxW-XxY"?

Options:
1. # Daughter
2. ¥ Son's wife
3. # Sister

4. % Mother

Question Number : 12 Question Id : 63068058057 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

qah fAfga ge o d,

‘A+B aradg ‘A BRI Ut g,

‘A-B A g, ‘A BRI ATE,

‘AxB @ d g, ‘A BHTTI

‘A+B @3dg, ‘A BhfUars'l

SURITh & AMYR W, A 'T+ U +Vx W -XxY'§, dt U, Y ¥ fhd TR deiferd 872

Options :
1. % g3l
2. ¥ U3 hl U

3. % w5

Question Number : 13 Question Id : 630680184060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



A question is given, followed by two statements labelled I and IT. Read the question and the statements, and decide

whether the data provided in the statements are sufficient/necessary to answer the question.
Question:
What is Salman's rank from the top in a class of 50 students?

Statements:

I Amir s 15 from the top in the class.

1T, There are 5 students between Amir and Salman in the class.

Options :

The data in Statement I alone are sufficient to answer the question, while the data in Statement IT alone are not sufficient

1 s foanswer the question.

The data in Statement IT alone are sufficient to answer the question, while the data in Statement I alone are not sufficient

5 s toanswer the question.

3. % The data given in both statements I and II together are necessary to answer the question.

4.+ The data given in both statements I and II together are not sufficient to answer the question.

Question Number : 13 Question Id : 630680184060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 630680172939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

In the following triad, each letter-cluster is related to the subsequent one following a certain logic.
Select the option that follows the same logic.

CHIP-PHCI-HIPC

Options :
1. % HAIR-AIRH-AHIR

2. % JUST-TJUS-UTJS



3. # KING-GNIK-INKG

4. ¥ DOWN-NODW-OWND

Question Number : 14 Question Id : 630680172939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fAefafad 3 d, e srer-99g T RfYa deh o1 SIgaR01 ehd §U STet 1eR-T9g & Heifdd &1 39 fashed a1
TG hITSIY STt IT dch T SERUT T g

CHIP-PHCI-HIPC

Options:

1. * HAIR-AIRH-AHIR
2. #® JUST-TJUS-UTJS
3. # KING-GNIK-INKG

4. ¥ DOWN-NODW-OWND

Question Number : 15 Question Id : 630680173648 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Four word-pairs have been given out of which three are alike in some manner and one is different.

Select the word-pair that is different.

Options :

1. * Rock-Brick

2. ¥ Rich-Poor

3. % Stones-Pebbles

4. # Cement-Sand

Question Number : 15 Question Id : 630680173648 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IR e5-giH oy g € e & = forelt uehR @51 8, Stafch Teh 31T 81 39 31T STea-iH oht gl

Options :

1. % ggM-3c
2. ¢ IHR-TRIE
3. ¥ UR-thehs

4, % HHeq

Question Number : 16 Question Id : 630680177923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

The following two Statements (I) and (II) are the effects of independent causes or a common
cause. One of the statements may be the effect of the other statement. Read both the statements
and select the option that depicts the relationship between these two statements.

(I) The sale of electric vehicles has increased.

(IT) The prices of fuel have increased.

Options :

1. # Statement (I) is the cause and Statement (II) is the effect.

2. ¥ Statement (II) is the cause and Statement (I) is the effect.

3. #* Both Statements (I) and (II) are the effects of some independent causes.

4. % Both Statements (I) and (II) are the effects of some common cause.

Question Number : 16 Question Id : 630680177923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fAfafEa gt sum (1) 3R (I1) Tad= wRUN AT Yeh FTHI RIROT oh UHTT & | Yeh hUH UL U T UHTT gl HohdT &
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Options :
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Question Number : 17 Question Id : 630680177925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

The following two Statements (I) and (II) are the effects of independent causes or a common
cause. One of the statements may be the effect of the other statement. Read both the statements
and select the option that depicts the relationship between these two statements.

(I) Winter has arrived.

(II) People have started using geysers more than usual.

Options :

1. # Statement (I) is the cause and Statement (II) is the effect.

2. * Statement (II) is the cause and Statement (I) is the effect.

3. ¥ Both Statements (I) and (II) are the effects of some independent causes.

4. % Both Statements (I) and (II) are the effects of some common cause.

Question Number : 17 Question Id : 630680177925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fAfafEa gt eum (1) 3R (I1) Tad= wRON AT Yeh FTHT BIROT oh AT & | Yeh hUH AR Y Sl UHTT gl TohdT ¢
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Options :
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2. % e (1) RUT & 3R YA (1) U998

3. ® e () 3R (I1) aHT o Td= hRUM h UHTE &

4. % gy (1) iR (1) A1 ) foneht I sRor & g |

Question Number : 18 Question Id : 63068083914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

What should come in place of the question mark (?) in the given series?

9,101, 999, 10001, ?

Options :

1.+ 99999
2. % 99998
3. # 99990

4. % 100000

Question Number : 18 Question Id : 63068083914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

&I TS SREe | uHaradh g (?) & I WR T S A1fey?

9,101, 999, 10001, ?

Options :

1. % 99999



2. % 99998
3. * 99990

4. % 100000

Question Number : 19 Question Id : 630680172529 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the number from among the given options that can replace the question mark (?) in the

following series.

128, 120, 256, 240, 1024, ?
Options :

1. % 480

2. ¥ 960

3. % 1000

4. % 512

Question Number : 19 Question Id : 630680172529 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

f&g g faereut 7 @ 39 dr st gy St Refafed sfaer & uy Rg (?) & @\ wR o gaadt 81
128, 120, 256, 240, 1024, ?

Options :
1. % 480
2. ¥ 960

3. * 1000



4. % 512

Question Number : 20 Question Id : 63068050367 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

1 : 1
If — = 0.4. then what is the value of ?
2.5 0.000025

Options:
1. % 4000
2. ¥ 40000
3. # 400

4. % 400000

Question Number : 20 Question Id : 63068050367 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
gfd L = 0.48. 01 —— BHIHA FEND

5 : 5

Options:
1. % 4000
2. ¥ 40000
3. # 400

4. % 400000
Is this Group for Examiner?: No
Examiner permission : Cant View

Show Progress Bar?: No



General Awareness

Section type : Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 21 Question Id : 63068099396 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Which of the following institutions was awarded the UNESCO Literacy Prize for Innovation in

Education in 2021?

Options:

1. * National Council of Educational Research and Training
2. * Indira Gandhi National Open University

3. #* All India Council for Technical Education

4. + National Institute of Open Schooling

Question Number : 21 Question Id : 63068099396 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fAfafea & 9 forg derm &t 2021 # e # FareR & g gAwet (UNESCO) |1eRdT RERR 8 gwA1d fohar mar
qr?

Options :
1. % P Afeien IrTHYM 3R Uferor uReeg

2. % ey wieht g gk Ay



3. ¥ et WRAG den-iteh! f1&rm uRee

4. ¥ T T<h foermerd) frem deer=

Question Number : 22 Question Id : 630680112085 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Which social challenge has been reported in ‘The Inequality Virus’ by OXFAM International in
January 20217

Options:

1. % Caste discrimination

2. ¥ Income, gender and race inequalities
3. * Regional diversities

4. * Inequality in sex ratio

Question Number : 22 Question Id : 630680112085 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
et 2021 F Hiethd (OXFAM) $ARMA gRT 'S st IRy’ | fohd qrTiies I & o= & 718 8?2

Options :

1. ¥ ST AT

2. 3y, fofT ofR 9% Taieft SrguTdaTg
3. % ghily fafaerarg

4. % foRmguTd # SIATT

Question Number : 23 Question Id : 63068074724 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Which of the following departments/ministries released the Harmonised Guidelines and Standards

for Universal Accessibility in India 2021?

Options :

1. % Central Public Works Department
2. ¥ Ministry of Home Affairs

3. * Department of Primary Education

4. ¥ Ministry of Defence

Question Number : 23 Question Id : 63068074724 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ffefEa & & forg favmT/=are 3 9 Ra F gfasa gaaiffaferdt 2021 & forg g feenfader sk Ame st
frg?

Options :

1. ¢ &1y i fAafor famr
2. ® I8 HAT™

3. ¥ grfaen frer favm

4, ® I HATT

Question Number : 24 Question Id : 630680114085 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

As per a press release issued by the Ministry of Youth Affairs and Sports in August 2021, how

many Khelo India Centres will be established across the country?

Options :

1. * 500 centres



2. # 600 centres
3. # 800 centres

4.+ 1000 centres

Question Number : 24 Question Id : 630680114085 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gaT AT 3R Wl HATId gRT 3Td 2021 # SIRY Yok U9 famft & SraR, 21 wR # fohd= @t $fean o wnfid
fepq g

Options :

1. ¥ 500 g

2. % 600 g

3. % 800 g

4.+ 1000 &g

Question Number : 25 Question Id : 630680111599 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Which theory was articulated by Jinnah in the Lahore Resolution (‘Pakistan Resolution’) presented

at the Muslim League’s annual session held in Lahore in 1940?

Options :

1. * Single-nation theory
2. * Three-nation theory
3. ¥ Two-nation theory

4. # Islamic nation theory



Question Number : 25 Question Id : 630680111599 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

1940 # R # maifoid Ao «ih1 & arftes sifdae # Udd @eRk UdTa ('urfersar Reategeq') | fS=r gr
i 1 Rgia aa=h fohar am or?

Options:

1. ® Tohel-ATg faggid
2. % d-vg Rigia
3. ¥ fg-3rg Rigia

4. % gEAH! g g

Question Number : 26 Question Id : 630680172210 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Who among the following rulers of Delhi Sultanate is known for his Market Reforms?

Options :

1. # Alauddin Khilji
2. * Iltutmish

3. ¥ Razia Sultan

4. % Balban

Question Number : 26 Question Id : 630680172210 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
feeett Hedma o fAmfofEd smael 7 @ fohd 3T g1 forg Y SToTR Qurt & forg i sirar g2

Options :

1. ¢ JISE fREeroi!



2. % gogdfas
3. ¥ IFSar g™

4, #® defdqd

Question Number : 27 Question Id : 630680113555 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Buddhist sites witnessed Gautam Buddha's first sermon?

Options :

1. % Sarnath
2. * Dhauli
3. ¥ Jaugarh

4. % Ratnagiri

Question Number : 27 Question Id : 630680113555 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
frfafEa & & w-a7 dig e T g & Uget SURT ah a1eft @12

Options :
1. ¥ IRATY

2. % efcht

Question Number : 28 Question Id : 630680172228 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Which of the following dance forms is attributed to the Manipuri Dance?

Options:
1. # Chhau
2. ¥ Jagoi
3. * Bihu

4., % Karma

Question Number : 28 Question Id : 630680172228 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fAfefed 7 @ forg 7 et o1 2 Afogd 77 ot Srar 82

Options :
1. % 8%
2. ¥ Sms
3. ® fag

4. % AT

Question Number : 29 Question Id : 630680183938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Jhoolana folk singing style is from which of the following states of India?
Options :

1 % Rajasthan

5  Haryana



3 % Madya Pradesh

4. % Uttar Pradesh

Question Number : 29 Question Id : 630680183938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ST (Jhoolana) Fe M= el 8N & famafafed # & fhw 17 & wefia &2

Options :

1. % =T8T

, BT

3 % HET gour

4. % Joak FaA

Question Number : 30 Question Id : 63068090262 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a feature of Micro credit?

Options:
1. % Does not require any collateral for loan
2. ¥ Does not offer any micro loan

3. * Repaid frequency is very low



4. ® Loan tenure is high

Question Number : 30 Question Id : 63068090262 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fAmfafad A @ et 9t oY k07 (ATgeht shfse) & fasiwar 82

Options :
1. ¢ 3701 & foIq et Hurfer <l arrasaenhdr 781 gid! &

2. % ohYs YA K0T UG gl el

3. ¥ Jehldl AT Igd A il &

4. % 701 3afe Hfdeh gidl 8

Question Number : 31 Question Id : 63068054703 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

In the year , Life Insurance Corporation (LIC) absorbed a total of Indian and

foreign insurers.

Options :

1. % 1956; 245
2. % 1951, 145
3. % 1991, 245

4. % 1991; 145

Question Number : 31 Question Id : 63068054703 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
EL ¥, Sttet dftar s (LIC) 3 e R 3R faesft ST shufaat ot garfed fahari



Options :

1. % 1956; 245
2. % 1951; 145
3. % 1991, 245

4. % 1991; 145

Question Number : 32 Question Id : 63068090204 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
The word ‘Monsoon'’ is derived from

Options:

1. ¥ the Arabic word ‘Mausim’
2. * the Greek word ‘Mosin’

3. ¥ the Roman word ‘Moonsim’

4. % the Latin word ‘Monsin’

Question Number : 32 Question Id : 63068090204 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HIFYH' 2Teg <hl Scdfx fohd 2reg & g5 872

Options :

1. ¢ 3Rl 2reg HIRH'
2. % gAY e "HifGT
3. ® I e TR

4. % Afeq g "Hife=



Question Number : 33 Question Id : 630680172230 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

The 86th Constitutional Amendment Act of 2002, passed by the Indian Parliament, establishes the

basic rights to primary education for children aged

Options :

1. % 5-11 years
2. ¥ 6-14 years
3. #* 7-16 years

4. % 6-17 years

Question Number : 33 Question Id : 630680172230 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
YR 99¢ gRT gTiRd 2002 a1 86di HfguT dente sfafaay, gef T 31T deh oh aredi oh folq TTIfaes fvem
& ol ATARRT ohl T el B

Options:

1. % 5-11 qy
2. ¥ 6-14a9
3. % 7-16 a9

4, % 6-17 a9

Question Number : 34 Question Id : 630680111989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

When was the National Infrastructure Pipeline launched in India?



Options :
1. % 2016
2. % 2017
3. % 2018

4.+ 2019

Question Number : 34 Question Id : 630680111989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

VR H ALY AT UTSUATS hel [ i 713 Aft?

Options :
1. % 2016
2. #2017
3. # 2018

4.+ 2019

Question Number : 35 Question Id : 63068053686 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Identify the odd option from among the following.

Options:
1. ¢ Khair
2. % Teak
3. #* Sheesham

4. # Peepal



Question Number : 35 Question Id : 63068053686 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fafefea & @ f9= (ivw) feeeg ot ug=nfAul

Options :
1. ¥ &R

2. % guraH
3. % sfism

4. % diue

Question Number : 36 Question Id : 630680134927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of a Detritivores?

Options :

1. % Earthworm
2. % Crow

3. % Vulture

4. % Fungi

Question Number : 36 Question Id : 630680134927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
ffafaa § @ &4 91 fdeheu TIRETERY &1 Teh 318701 87

Options :

1. ¢ dhgan

2.



#® aprar

3. ¥ fig

4, ® chddh

Question Number : 37 Question Id : 63068053733 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of a fluid?

Options :

1. % Wood
2. ¥ Mercury
3. ¥ Marble

4. % Glass

Question Number : 37 Question Id : 63068053733 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fAafeifed & @ s9-91, Teh del T 31801 87

Options :
1. ® Fhat
2. Y ORI

3. ® IR

4. ¥ &g

Question Number : 38 Question Id : 63068059631 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

For how many days in total were Fundamental Rights discussed in the sub-committee, advisory

committee and in the constituent assemblies during the framing of the Constitution?

Options :
1. # 62
2. % 58
3.4 38

4. % 42

Question Number : 38 Question Id : 63068059631 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ST & Fmfor & SR Su-afafa, geger affa ok dfdam gure & g fhdw &A1 aes Hifcier sfdert w ==t
EORIEY

Options :
1. % 62
2. % 58
3.+ 38

4. % 42

Question Number : 39 Question Id : 63068069281 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Under which Article of the Constitution can ad-hoc judges be appointed to the Supreme Court?

Options :
1. # Article 124

2. * Article 125



3. ¥ Article 127

4. % Article 128

Question Number : 39 Question Id : 63068069281 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Gfder & fohg srede & dgd Hdiea e | ded =granefier &t fAgfth &l i dendt 82

Options :

1. % Srf<oc 124
2. % 3¢ 125
3. ¢ 3ee 127
4, % =g 128

Question Number : 40 Question Id : 63068062077 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
How many Rajya Sabha seats are allotted to the state of West Bengal?

Options:
1.4 16
2. %10
3.%7

4. % 19

Question Number : 40 Question Id : 63068062077 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



ufq STTet 15T Y 5T 9T F fehat TiE srrefed &t 18 87

Options :
1.4 16
2. %10
3.%7
4. % 19
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
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Section type : Online
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Clear Response:
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 41 Question Id : 63068060000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT divisible by 4?

Options :
1. % 467540
2. # 367328

3. ¥ 546714



4. % 556824

Question Number : 41 Question Id : 63068060000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A1 7 & sl 4t G 4 @ favrsa 78l 82

Options :

1. % 467540
2. % 367328
3. % 546714

4. * 556824

Question Number : 42 Question Id : 63068061327 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the value of
15X [4+3{3 x4+ (4x4)]}]:

Options :
1. % 25
2. %20
3.4 15

4. % 5

Question Number : 42 Question Id : 63068061327 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



fefiRad o1 9 I Sifore:
15X[4+3(3x4+(4x}Y

Options :
1. % 25
2. %20
3.415

4. % 5

Question Number : 43 Question Id : 630680143024 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

The average marks of 30 students of section A of class X is 70. Whereas, the average marks of 40
students of section B of class X is 80. What is the average marks for both sections combined

together?

Options:

742
7

Question Number : 43 Question Id : 630680143024 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
e X o Yo A o 30 foenfeiat o sid sieh 70 g1 STafch, hedl X o o B o 40 BT o 3i9d ik 80 g1 &1
YFT ot fAcTTeRR 3id 3ich fohae 872

Options :

742
3

Question Number : 44 Question Id : 63068079139 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

R needs ¥1,50,000 as income from his investments. He deposited ¥8,00,000 in a bank which gives
¥4,500 as interest per lakh. He deposited ¥6,00,000 in the post office which gives ¥50,000 as
interest and the rest in the share market. In the share market, he earns ¥1,500 for every ¥25,000.

How much money did he invest in the share market?

Options :

1. # Between ¥8,00,000 and ¥9,00,000
2. * Between ¥9,00,000 and ¥10,00,000
3. ¥ Between ¥10,00,000 and ¥11,00,000

4. ¥ Between ¥11,00,000 and ¥12,00,000



Question Number : 44 Question Id : 63068079139 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

R opt 310+ a1 & 1,50,000 bt 311 hY STaTehdT g1 391 Ueh sich & 8,00,000 ST fehy, T8t & 3¢ ufd @
¥4,500 =757 AT 81 3T+ STheR J 6,00,000 STHT fohT STgT @ I £50,000 =TT fAerdr & SfiR areht & 9 39+
R IR & o717 fRU | R IeTR H, ag ufa £25,000 TR 21,500 HATAT 1 394 R FISTR & fohd=r oar fdsr forar?

Options :

1. ¥ ¥8,00,000 3R 9,00,000 & =

2. % ¥9,00,000 3R 10,00,000 o st
3.+ ¥10,00,000 3k ¥11,00,000 & =

4, % ¥11,00,000 37 ¥12,00,000 & &=

Question Number : 45 Question Id : 63068076102 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A number is increased by 25% and then decreased by 15%. The resulting number is 17 more than

the original number. Find the original number.

Options :
1. % 340
2. % 289
3. %110

4. 272

Question Number : 45 Question Id : 63068076102 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tk T & 25% ST gi; Y ST & 3R O 15% Y et B et 81 oo G ge T @ 17 3ifdes 81 e
&1 A1 hIFAT



Options :
1. % 340
2. % 289
3. % 110

4. % 272

Question Number : 46 Question Id : 63068070154 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Gopal bought an article for Rs.200 and sold it at a profit of 10%. What would have been the

increase in profit per cent if it was sold for Rs.230?

Options:
1.9 5%

2. % 10%
3. % 15%

4. % 20%

Question Number : 46 Question Id : 63068070154 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

AT J Teh a¥g Rs.200 & @ET 3R I8 10% 3 o1 R & fam| af 3& Rs.230 & <=1 Srar at are ufawa §
forat g gtcht?

Options :
1.4 5%
2. # 10%

3. % 15%



4. % 20%

Question Number : 47 Question Id : 630680101714 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
A series of successive discounts of 20% and 15% is equivalent to a single discount of:

Options :

| % 15%

, v 32%

4 % 35%

Question Number : 47 Question Id : 630680101714 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
20% 3R 15% SHATTA Bel chl Yeh Y@l Tehel PE oh SRR B

Options :

| % 15%

, v 32%



% 35%

Question Number : 48 Question Id : 63068094348 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper marked an article at ¥500. The shopkeeper allows successive discounts of 15%, 10%

and 5%. The selling price (SP) of the article is .

Options :

%36.3375

Question Number : 48 Question Id : 63068094348 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Qeh gehMaR A Yeh a%g IR T500 3ifchd fhaT| gapMeR 15%, 10% 3R 5% & thiieh P &l 81 a%g i sk 7o (
SP)_______ @I

Options :

336.3375

1. %



Question Number : 49 Question Id : 63068094407 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

The total number of students in a school is 500. If the number of boys in the school is 245, then

what is the ratio of the total number of girls to the total numbers of boys in the school?

Options :

49:51

1. %

51:49

50:49

51:40

Question Number : 49 Question Id : 63068094407 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Qeh Thet | fenfal &t et dwear 500 g1 afe Thet H digen! i Tear 245 8, dt 39 Whel | crafhdl &l get T
TSl Sl el AT F ITUTA AT 872

Options :

|« 49:51



, o 51:49

L« 50:49

4« 51:40

Question Number : 50 Question Id : 63068078442 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
IfA:B=2:3,B:C=3:4andC:D=4:5,thentheratioof A: Disequalto:

Options :
1. % 2:3
2.9 2:5
3. %52

4. % 577

Question Number : 50 Question Id : 63068078442 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

gieA:B=2:3B:C=3:43RC:D=4:58 dl3guidA:D

Options :
1. % 2:3
2.¥ 25
3. % 5:2

4, = 577



Question Number : 51 Question Id : 630680179442 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

A person took a certain loan from a bank at the rate of 9% per annum. He paid a simple interest

amounting to¥2,160 in 3 years. Find the amount of the loan.

Options :

1. % 7,500
2. % 7,800
3. ¥%8,000

4. % 8,400

Question Number : 51 Question Id : 630680179442 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Uch f<h A Tah dch I 9% aTfYeh & § Ueh [Afd =RIfRY o1 R <ft| 39+ 3 auf & GreRor sart & 9 d 2,160 i
A et fTar= ka1 o1 Y AfA F1d RS

Options:

1. % %7,500
2. # 37,800
3. ¥ %8,000

4. % 8,400

Question Number : 52 Question Id : 630680178203 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on ¥3,90,625 in 2 years at 8% per annum, the interest being compounded

half-yearly, is:



Options :

1. % ¥31,875
2. ¥ 366,351
3. % 143,972

4. % ¥32,200

Question Number : 52 Question Id : 630680178203 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Rs.3,90,625 <Al 1 TR 2 uf & 8% dTftich TSI & ¥ Tehgleg, TSl fohdT g, Afe et sef-anfvier ®u 4§ daifSrd
fopar ST BT 82

Options :

1. # ¥31,875
2. ¥ 66,351
3. # 3143,972

4. % ¥32,200

Question Number : 53 Question Id : 63068068376 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A train 450m long takes 45s to cross a man running at a speed of 8 km/h in the same direction as

that of the train. What is the speed of the train?

Options :
1. ¥ 42 km/h
2. # 43 km/h

3.¥ 44 km/h



4, % 45 km/h

Question Number : 53 Question Id : 63068068376 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

450 m el Ueh IerTret 34T fG=m # 8 km/h &t a1t & €IS 3@ Ueh Afch i UR A B 455 I G0 Adl g1 ¢ ahl
TqTel T &7

Options :

1. % 42 km/h
2. # 43 km/h
3. ¥ 44 km/h

4. % 45 km/h

Question Number : 54 Question Id : 630680112507 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

The police noticed a thief from a distance of 300 m. Afraid of being caught by the police, the thief
started running at 7 km/h. The police started chasing him at speed of 8 km/h and caught the thief.

How much distance did the thief run before he was caught?

Options :

1. % 1,900 m
2. % 1,800 m
3.42,100m

4. % 2,400 m

Question Number : 54 Question Id : 630680112507 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Options:

1. % 1,900 m
2. % 1,800 m
3.42,100m

4. % 2,400 m

Question Number : 55 Question Id : 63068067972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 40 days and B can do it in 60 days. In how many days will they finish

the work, both working together?

Options:

1. ®* 30 days
2. #® 32 days
3. ¥ 24 days

4. % 25 days

Question Number : 55 Question Id : 63068067972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A Tk 1 aht 40 T H oz GohdT g 3R B I8 60 AT H oz GehdT 81 &1 YehdT ohiH ohid §Y fohae fet & o
HHTE hil?

Options :

1. % 30feq



2. % 32fq
3. ¥ 244

4. % 25 feq

Question Number : 56 Question Id : 630680150562 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Raju can finish a job in 20 days and Vishal can finish the same job in 30 days. In how many days

can they finish the job working together?

Options :
1. %10
2. %6
3.4 12

4. % 25

Question Number : 56 Question Id : 630680150562 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
L Teh i ot 20 fT & GHTed e TohdT 8 3R fasmer St R &l 30 AT & T o Gopd1 &1 @ Toh 919 SR
&d §Y S ol fehaH T # AT o Tehd 872

Options :
1. %10
2. %6
3.¥12

4. % 25



Question Number : 57 Question Id : 63068094972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the percentage of students of different schools involved in various activities.

School-> SS BS CS DS
Activities\
Games 25 30 20 23
Music 15 25 25 20
Academic 30 20 25 15
Dance 25 15 22 30

The activities in descending order of average number of students is:

Options :

1. ¥ Games, Dance, Academic, Music
2. # Games, Academic, Dance, Music
3. ¥ Dance, Games, Academic, Music

4. *# Academic, Games, Dance, Music

Question Number : 57 Question Id : 63068094972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



HeT-3eT Afafare & fder fffes et & o & givd W HER #)
T 25 30 20 23

S 30 20 25 15
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Options :

1. ¥ W, T, Ugls, Tifld
2. ¥ W, yers, I, Gifid
3. ¥ Jd, 9, uers, Iifta

4, % Ugls, W, I, Tifid

Question Number : 58 Question Id : 630680178347 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



The following pie chart shows the percentage of 3600 students registered in different courses in a university.

I crgineering 18%
B science
B At
[ |Education
I Management

B Vedicine

21% 13%

11%

15%

The number of students registered in medicine course is what percentage of those registered in science course?

( correct to 2 decimal places)
Options:

1 % 56.89%

5 % 73.25%

3« 104.76%

4 % 10.76%

Question Number : 58 Question Id : 630680178347 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1 % 56.89%

5 % 73.25%

3« 104.76%

4 % 10.76%

Question Number : 59 Question Id : 63068070765 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

In a rhombus ABCD, the length of the diagonals AC and BD are 16 cm and 12 cm, respectively.

What is the perimeter (in cm)?

Options :



1. % 100
2. * 56
3.9 40

4. % 36

Question Number : 59 Question Id : 63068070765 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Uk gHagyst ABCD #, faerurf AC 3R BD &l @dTs shAST: 16 cm 3R 12 cm 81 39 ulRATT (cm H) & 0T 2

Options:
1. % 100
2. ®# 56
3.¥40

4. % 36

Question Number : 60 Question Id : 63068079838 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A solid sphere of radius 10 cm is melted and recast into small solid spheres of radius 0.5 cm. How

many small spheres are formed?

Options :
1. % 8000
2. # 16000
3. # 800

4. * 1600



Question Number : 60 Question Id : 63068079838 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

10 cm <1 aret Geh 319 et et fieretrenz 0.5 cm B aret Bi¢ 31 et 991Y Si1d &1 foham B1¢ et [Afdd gl
8?

Options:
1. % 8000
2. % 16000
3. ¥ 800
4. % 1600
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Question Number : 61 Question Id : 630680183773 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a

meaningful and coherent paragraph.

A Without balance, much of the beauty and grandeur of our existence is lost.

B. But a balanced life doesn't just happen.

C. Bringing your life info equilibrium requires focused awareness and daily retreat from the stresses of the world.

D. Living in balance is vital to our well-being,

Options :

1.« DABC

> % BACD

3 % DBAC

4 % BDAC

Question Number : 61 Question Id : 630680183773 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a

meaningful and coherent paragraph.

A Without balance, much of the beauty and grandeur of our existence is lost.

B. But a balanced life doesn't just happen.

C. Bringing your life info equilibrium requires focused awareness and daily retreat from the stresses of the world.

D. Living in balance is vital to our well-being,

Options :

1.« DABC



> % BACD

3 % DBAC

4 % BDAC

Question Number : 62 Question Id : 630680183784 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a

meaningful and coherent paragraph.

A. Tt facilitates the development of a high-quality and technologically competent workforce.
B. India needs more of such research parks.

C. It does this by providing opportunities for students to work in the companies in the park.

D. The IIT Madras Research Park. established in 2006, is modelled on the famous Stanford Research Institute.

Options:

1 % DBAC

> « DACB

3 % DCBA

4. % DABC

Question Number : 62 Question Id : 630680183784 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a

meaningful and coherent paragraph.

ATt facilitates the development of a high-quality and technologically competent workforce.
B. India needs more of such research parks.

C. It does this by providing opportunities for students to work in the companies in the park.

D. The IIT Madras Research Park. established in 2006, is modelled on the famous Stanford Research Institute.

Options :

1 % DBAC

> v DACB

3 » DCBA

4. % DABC

Question Number : 63 Question Id : 630680183794 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

Even in his sixties, Mahatma Gandhi walked at a brisk . He once believed that the English had superiority over
his fellow-Indians because they were stronger, carnivores. Most Hindus are vegetarians.
Options :

1 = speed, are

>  Dbace, being



3 % rhythm, be

4 % step.is

Question Number : 63 Question Id : 630680183794 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

Even in his sixties, Mahatma Gandhi walked at a brisk . He once believed that the English had superiority over
his fellow-Indians because they were stronger, carnivores. Most Hindus are vegetarians.
Options:

1 % speed,are

5> « Dbace, being

3 % rhythm, be

4 % Step,is

Question Number : 64 Question Id : 630680183811 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

For the first time, researchers have a clouded leopard in a community forest in Nagaland. Clouded leopards

known for their spotted coat and inhabit the primary evergreen rainforests.

Options :



1.« spotted, are

2 seen, were

3 % discovered, be

4 % found, is

Question Number : 64 Question Id : 630680183811 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

For the first time, researchers have a clouded leopard in a community forest in Nagaland. Clouded leopards

known for their spotted coat and inhabit the primary evergreen rainforests.

Options :

1« Spotted, are

2 seen, were

3 % discovered, be

4. % found, is

Question Number : 65 Question Id : 630680183817 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blanks.

Half the planet’s glaciers will have melted by 2100 even if humanity sticks to set out in the Paris climate
agreement, according to research. The scale and impacts of glacial loss are greater than thought.
Options :

1 % aims, afore

> % Objectives, formerly

3. goals, previously

4 % milestones, early

Question Number : 65 Question Id : 630680183817 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Half the planet’s glaciers will have melted by 2100 even if humanity sticks to set out in the Paris climate
agreement, according to research. The scale and impacts of glacial loss are greater than thought,
Options :

1 % aims. afore

> w Objectives, formerly

3.« goals, previously

4 % ilestones, early



Question Number : 66 Question Id : 630680183919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

India’s diesel-lectric submarines are still lying in Severodvinsk in Russia after a major refit due to Western

sanctions on Russia post the Ukraine war. The plan now is to sail one of the submarines to a Norwegian port in February

and then ferry it ship to Mumbai.

Options:

1« even: by

5 % such:in

3 % S0;0n

4 % as; with

Question Number : 66 Question Id : 630680183919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.

India’s diesel-lectric submarines are still lying in Severodvinsk in Russia after a major refit due to Western

sanctions on Russia post the Ukraine war. The plan now is to sail one of the submarines to a Norwegian port in February

and then ferry it ship to Mumbai.

Options:

1« even: by

5 % such:in



3 % S0;on

4 % Aas;with

Question Number : 67 Question Id : 630680183923 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks,

An endangered Indian Wolf and a rare species of ‘Orange bat” have both been in the forests of Chhattisgarh's

Bastar district, according to a forest official. The official further that it is excellent to see Indian wolves living

in these forests, and a plan is being created and promote them.
Options:

1 % dotted: saying; protect

o % blotted: say: protected

3. Spotted: said: to protect

4 % specked; says: protecting

Question Number : 67 Question Id : 630680183923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blanks.

An endangered Indian Wolf and a rare species of *Orange bat” have both been in the forests of Chhattisgarh's

Bastar district, according to a forest official. The official further that it is excellent to see Indian wolves living

in these forests, and a plan is being created and promote them.

Options :

1w dotted: saying: protect

> w Dblotted: say: protected

3. Spotted: said: to protect

4 % Specked: says: protecting

Question Number : 68 Question Id : 630680183871 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Some sentences are missing from the text. Select from the list (A-C) the most appropriate sentence for each gap (1 and

2) in the text, There is one extra sentence that you do not need to use.

Arrabbif is a weak, timid animal that is always surrounded by numerous enemies. It is small, has fur, has a short tail, and

has pointed ears. As a result, it has large ears that help it hear even the smallest sounds. (1) . Because of this,

the rabbit is able to spot its enemies in time and flee to a safer location. By repeatedly licking ifs forepaws and rubbing
them against the surface of its ears, a rabbit cleans its ears. To keep its ears clean, it does this. The desert is very hot
during the day and very cold at night for the jackrabbit as he lives there. (2) . By controlling the flow of blood
through the many blood vessels in its large, thin ears, it can lose heat when it is hot or take in heat when it is cold.

A. Arabbit has 28 teeth that never stop growing as it grows.
B. The jackrabbit's long ears not only let it hear enemies, but they also help it regulate its body temperature,

C. Nearly every sound wave that enters the air is picked up by the large ear and carried into the inner ear.

Options:

1. % BC



2 # AB

3.v CB

4, ® AC

Question Number : 68 Question Id : 630680183871 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Some sentences are missing from the text. Select from the list (A-C) the most appropriate sentence for each gap (1 and

2) in the text, There is one extra sentence that you do not need to use.

Arrabbit is a weak, timid animal that is always surrounded by numerous enemies. It is small, has fur, has a short tail, and

has pointed ears. As a result, it has large ears that help it hear even the smallest sounds. (1) . Because of this,

the rabbit is able to spot its enemies in time and flee to a safer location. By repeatedly licking its forepaws and rubbing
them against the surface of its ears, a rabbit cleans its ears. To keep its ears clean, it does this. The desert is very hot
during the day and very cold at night for the jackrabbit as he lives there. (2) . By controlling the flow of blood

through the many blood vessels in its large, thin ears, it can lose heat when it is hot or take in heat when it is cold.
A. A rabbit has 28 teeth that never stop growing as it grows.
B. The jackrabbit's long ears not only let it hear enemies, but they also help it regulate its body temperature,

C. Nearly every sound wave that enters the air is picked up by the large ear and carried into the inner ear.

Options :

1. % BC

2. % AB

3.v CB



4. % AC

Question Number : 69 Question Id : 630680183878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Some sentences are missing from the text. Select from the list (A-D) the most appropriate sentence for each gap (1 and

2) in the text. There is one exfra sentence that you do not need to use.

The average body temperature stays about the same, It needs energy to perform its tasks effectively. Similar to
combustion, oxidation is the method by which this energy is obtained. The combustion of food results in the generation
of mild heat energy that satisfies the human body’s exact temperature requirements, (1) . The brain's
femperature centre is responsible for maintaining the body's temperature. There are three parts to this centre: a) a control
centre that regulates body temperature; b) a heating centre that raises the blood's temperature as it falls; ¢) a centre for

cooling that keeps the blood cool when the temperature rises. We tremble when the blood temperature drops too low. (2)

A. The body then produces more heat automatically to control the situation.
B. Human body generates about 2,500 calories of heat energy.
C. Because they provide the energy needed to keep the body warm, carbohydrates are very important for the body.

D. Human body maintains an optimum range of temperature for its functioning,

Options :

1. % AB

2 # DB

3. % AC

4.¢v CA



Question Number : 69 Question Id : 630680183878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Some sentences are missing from the text. Select from the list (A-D) the most appropriate sentence for each gap (1 and

2) in the text. There is one extra sentence that you do not need to use.

The average body temperature stays about the same. It needs energy to perform its tasks effectively. Similar to
combustion, oxidation is the method by which this energy is obtained. The combustion of food results in the generation
of mild heat energy that satisfies the human body’s exact temperature requirements. (1) . The brain's
temperature centre is responsible for maintaining the body's temperature. There are three parts to this centre: a) a control
centre that regulates body temperature; b) a heating centre that raises the blood's temperature as it falls; c) a centre for

cooling that keeps the blood cool when the temperature rises. We tremble when the blood temperature drops too low. (2)

A. The body then produces more heat automatically to control the situation.
B. Human body generates about 2,500 calories of heat energy.
C. Because they provide the energy needed to keep the body warm, carbohydrates are very important for the body.

D. Human body maintains an optimum range of temperature for its functioning.

Options :

1. % AB

2 # DB

3. % AC

4.+ CA

Question Number : 70 Question Id : 630680183887 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Study the given inference that is followed by some paragraphs. You have to find the paragraphy(s) from which it is

inferred and select the most appropriate option.
Inference: Chinese sculpture

L. King Zheng was the first person to rule China's entire region. In 221 BC, he conquered the entire land and ruled for
eleven years. He was hailed as the First Emperor when he passed away in 210 BC. It was said that he conquered the

world with an army of one million armoured soldiers, one thousand chariots, and ten thousand horses.,

2, His people couldn't imagine any more land outside of his kingdom because it was so big. In the centre of China,
Zheng was buried beneath a massive mound near his capital, Chang'an. The Great Wall of China was built, a grand
royal palace was built, and thousands of literary and philosophical works were destroyed in the infamous Burning of the

Books during his reign.

3. Alife-size terracotta or clay model army was buried at a nearby place. Even though Zheng's stories said this army
was smaller, it was still very big. It had 1,400 charioteers and cavalrymen, 6,000 foot soldiers, and even a command
unit. Each individual clay model may have depicted a real man. In 1974, the terracotta army was discovered.
Options :

1 % Onlyl

> % Only2

3 « Only3

4 % Only land2

Question Number : 70 Question Id : 630680183887 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Study the given inference that is followed by some paragraphs. You have to find the paragraphy(s) from which it is

inferred and select the most appropriate option.
Inference: Chinese sculpture

L. King Zheng was the first person to rule China's entire region. In 221 BC, he conquered the entire land and ruled for
eleven years. He was hailed as the First Emperor when he passed away in 210 BC. It was said that he conquered the

world with an army of one million armoured soldiers, one thousand chariots, and ten thousand horses.,

2, His people couldn't imagine any more land outside of his kingdom because it was so big. In the centre of China,
Zheng was buried beneath a massive mound near his capital, Chang'an. The Great Wall of China was built, a grand
royal palace was built, and thousands of literary and philosophical works were destroyed in the infamous Burning of the

Books during his reign.

3. Alife-size terracotta or clay model army was buried at a nearby place. Even though Zheng's stories said this army
was smaller, it was still very big. It had 1,400 charioteers and cavalrymen, 6,000 foot soldiers, and even a command
unit. Each individual clay model may have depicted a real man. In 1974, the terracotta army was discovered.
Options :

1 % Onlyl

> % Only2

3 « Only3

4 % Only land2

Question Number : 71 Question Id : 630680183909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Study the given inference that is followed by some paragraphs. You have to find the paragraph(s) from which it is
inferred and select the most appropriate option.

Inference; Consumer Protection Act

1. Adulteration, false weights, monopoly, and unfair trade practices are some of the issues that need to be addressed in
order to protect consumers from harmful products on the market. There are numerous products that harm consumers'
health.

2. The movement's main goal is to create a culture that doesn't let products that aren't good for customers go on the
market. This can only happen if consumer groups take over the government's watchdog role and exercise social control
over the market to ensure that traders do not only reap the benefits of liberalization. However, unless strict legal
measures are taken to ensure compliance, the appeal to industry to exercise self-regulation, maintain minimum quality

standards, and establish appropriate pricing will undoubtedLy go unheeded.

3. The phrase "Consumer is King" has replaced "Caveat Emptor" in the legal system. There are a lot of sellers who want

to meet all of the needs of their customers but can't afford to let them down with bad service or products.
Options :

1 % Onlyl

> % Only2

3 v l.2and3

4 % Only3

Question Number : 71 Question Id : 630680183909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Study the given inference that is followed by some paragraphs. You have to find the paragraph(s) from which it is

inferred and select the most appropriate option.
Inference: Consumer Protection Act

1. Adulteration, false weights, monopoly, and unfair trade practices are some of the issues that need to be addressed in
order to protect consumers from harmful products on the market. There are numerous products that harm consumers'
health.

2. The movement's main goal is to create a culture that doesn't let products that aren't good for customers go on the
market. This can only happen if consumer groups take over the government's watchdog role and exercise social control
over the market to ensure that traders do not only reap the benefits of liberalization. However, unless strict legal
measures are taken to ensure compliance, the appeal to industry to exercise self-regulation, maintain minimum quality

standards, and establish appropriate pricing will undoubtedLy go unheeded.

3. The phrase "Consumer is King" has replaced "Caveat Emptor" in the legal system. There are a lot of sellers who want
to meet all of the needs of their customers but can't afford to let them down with bad service or products.
Options :

1 % Onlyl

> % Only2

3 v l.2and3

4 % Only3

Question Number : 72 Question Id : 63068064309 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Technology has made life very inert, and it is up to man now to make it more

Options :



1. % quaint
2. * uninterested
3. # hazardous

4. + lively

Question Number : 72 Question Id : 63068064309 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Technology has made life very inert, and it is up to man now to make it more

Options:

1. % quaint

2. ¥ uninterested
3. * hazardous

4. ¢ lively

Question Number : 73 Question Id : 63068084495 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the correct idiom to substitute the underlined segment in the following sentence.

It is better to_reap the benefits of a favourable situation than to wander aimlessly in the fields.

Options :

1. # Knit one’s brows

2. ¥ Make hay while the sun shines

3. % Make or mar



4. % Make a clean breast

Question Number : 73 Question Id : 63068084495 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the correct idiom to substitute the underlined segment in the following sentence.

It is better to_reap the benefits of a favourable situation than to wander aimlessly in the fields.

Options :

1. % Knit one’s brows

2. ¥ Make hay while the sun shines
3. * Make or mar

4. * Make a clean breast

Question Number : 74 Question Id : 63068064344 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the option that will improve the underlined part of the given sentence.

I have to wake up early in order to catch a flight. So, I better beat the sack.

Options :

1. * book the sack
2. ¥ hit the sack
3. # pack the sack

4, #* pack the bed

Question Number : 74 Question Id : 63068064344 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Select the option that will improve the underlined part of the given sentence.

I have to wake up early in order to catch a flight. So, I better beat the sack.

Options :

1. #* book the sack
2. ¥ hit the sack
3. * pack the sack

4. % pack the bed

Question Number : 75 Question Id : 63068064308 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the underlined word to fill in the blank.
He claims to have a frugal lifestyle, but his expenditure is rather _____

Options :

1. ¥ extravagant

2. % miserly

3. * loud

4. % inexpensive

Question Number : 75 Question Id : 63068064308 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the underlined word to fill in the blank.

He claims to have a frugal lifestyle, but his expenditure is rather



Options :

1. ¥ extravagant
2. % miserly

3. * loud

4. % inexpensive

Is Section Default? : null

Question Id : 630680180386 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (76 to 80)

Read the given passage and answer the questions that follow.

Colour in birds is caused by pigments and structure. Buffs, red browns, dark browns, and blacks
are caused by melanins, pigments synthesised by the bird and laid down in granules. Yellows,
oranges and reds come from carotenoid or lipochrome pigments; these originate at least in part
from the food and are diffused in the skin and feathers. Porphyrin feather pigments occur in birds
but less frequently than melanins and carotenoids. Blue colours in feathers are structural, based
on a thin, porous layer of keratin overlying melanin pigment. Most greens result from the addition
of yellow pigment to the structural blue colour. Iridescent colours result from the thinly laminated
structure of the barbules and are enhanced by underlying melanin deposits.Birds' feet are covered
with scales like those of reptiles. The scales are occasionally shed, but the timing of this molt is not
known. The toes are tipped with claws, and vestigial claws are not infrequently found on the tips of
the first two digits of the wing. The bill is covered with a sheet of keratin, the rhamphotheca, which
in petrels and a few other birds is divided into plates. In birds that probe for food (kiwis,
woodcocks, etc.), many sensory pores are found near the tip of the bill. Both, melanins and
carotenoids are found in the rhamphotheca and in the scales of the feet.The skin of a bird is
almost without glands. The important exception is the preen gland, which lies on the rump at the
base of the tail. The secretion of this gland contains approximately one-half lipids (fats and oils)
and is probably important in dressing and waterproofing the plumage. In a few birds, the

secretion has a strong, offensive odour. Some birds, in which the gland is small or absent, have a



specialised type of feather (powder down) that grows continuously and breaks down into a fine

powder, believed to be used in dressing the plumage.

Sub questions

Question Number : 76 Question Id : 630680180387 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the mixing of yellow pigment with blue colour results in which of

the following colours?

Options :
1. % Buff
2. * Brown
3. ¥ Green

4. * plack

Question Number : 77 Question Id : 630680180388 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
The word ‘rhamphotheca’ means:

Options :

1. # the bird’s bill made up of keratin
2. ¥ the rump of the tail

3. #* alayer of feathers

4. * the bird's tail feathers

Question Number : 78 Question Id : 630680180389 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Carotenoid pigments in birds come from

Options:

1. # strong offensive odour

2. ¥ food items that they consume
3. ¥ Porous layer of keratin

4. % Laminated structure of the barbules

Question Number : 79 Question Id : 630680180390 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

The secretion of the preen gland is possessed by the birds to

Options :

1. ® prevent the loss of heat from the body
2. # fly as it makes the feathers lighter

3. # raise or lower the feather

4.+ dress and waterproof the plummage

Question Number : 80 Question Id : 630680180391 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following statements is FALSE?

Options :

1. # Feather colours are the result of a combination of pigment and structural colours.

2. ¥ Yellow, orange and red hues do not come from pigments in the food they eat.

3. # Apreen gland is located at the base of the tail which secretes an oil that repels water.

4. # The scales are occasionally shed by a process called moulting.



Question Id : 630680180386 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (76 to 80)

Read the given passage and answer the questions that follow.

Colour in birds is caused by pigments and structure. Buffs, red browns, dark browns, and blacks
are caused by melanins, pigments synthesised by the bird and laid down in granules. Yellows,
oranges and reds come from carotenoid or lipochrome pigments; these originate at least in part
from the food and are diffused in the skin and feathers. Porphyrin feather pigments occur in birds
but less frequently than melanins and carotenoids. Blue colours in feathers are structural, based
on a thin, porous layer of keratin overlying melanin pigment. Most greens result from the addition
of yellow pigment to the structural blue colour. Iridescent colours result from the thinly laminated
structure of the barbules and are enhanced by underlying melanin deposits.Birds’ feet are covered
with scales like those of reptiles. The scales are occasionally shed, but the timing of this molt is not
known. The toes are tipped with claws, and vestigial claws are not infrequently found on the tips of
the first two digits of the wing. The bill is covered with a sheet of keratin, the rhamphotheca, which
in petrels and a few other birds is divided into plates. In birds that probe for food (kiwis,
woodcocks, etc.), many sensory pores are found near the tip of the bill. Both, melanins and
carotenoids are found in the rhamphotheca and in the scales of the feet.The skin of a bird is
almost without glands. The important exception is the preen gland, which lies on the rump at the
base of the tail. The secretion of this gland contains approximately one-half lipids (fats and oils)
and is probably important in dressing and waterproofing the plumage. In a few birds, the
secretion has a strong, offensive odour. Some birds, in which the gland is small or absent, have a
specialised type of feather (powder down) that grows continuously and breaks down into a fine

powder, believed to be used in dressing the plumage.

Sub questions

Question Number : 76 Question Id : 630680180387 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the mixing of yellow pigment with blue colour results in which of



the following colours?

Options:
1. % Buff
2. * Brown
3. ¥ Green

4. % Dpblack

Question Number : 77 Question Id : 630680180388 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
The word ‘rhamphotheca’ means:

Options :

1. # the bird’s bill made up of keratin
2. #* the rump of the tail

3. ¥ alayer of feathers

4. * the bird's tail feathers

Question Number : 78 Question Id : 630680180389 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Carotenoid pigments in birds come from

Options :

1. ® strong offensive odour

2. ¥ food items that they consume

3. * Porous layer of keratin

4. * Laminated structure of the barbules



Question Number : 79 Question Id : 630680180390 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

The secretion of the preen gland is possessed by the birds to

Options :

1. # prevent the loss of heat from the body
2. * fly as it makes the feathers lighter

3. * raise or lower the feather

4. ¢ dress and waterproof the plummage

Question Number : 80 Question Id : 630680180391 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following statements is FALSE?

Options :

1. # Feather colours are the result of a combination of pigment and structural colours.

2. ¥ Yellow, orange and red hues do not come from pigments in the food they eat.

3. ¥ A preen gland is located at the base of the tail which secretes an oil that repels water.

4. * The scales are occasionally shed by a process called moulting.
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Question Number : 81 Question Id : 630680184165 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

frfofeg a0 & v & 7 wegeiug ¢ 39 #7 7 wattyg fSeew &1 99 Fi-
TeoT Eerd ¢ O ¥ 7T T @ myed & o e

Options :

- o F s=oT R @ Fo W AT F v gmend §

- i ¥ Fo U @ =0T WA G § A & v

- #TT F [T $=oT @ 3@ § R ¥ T 9 #

4\{%‘#[1#@%?@‘5:@ AT AT E”I-T‘I"E»‘I":’g@?l‘ﬁl‘%’l

Question Number : 81 Question Id : 630680184165 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
frafefed I # 961 & #7 Faed ¢ 30 #8 # areyd eed @ 99 &

o e § R 3T T # A ¥ fov

Options :

1.



. T & sToT R § $5T W A % O gEerdr §

- e & o 99 F=OT [T g § AT & v

- AT % [T $=oT @ gEer § e ¥ FT 9 #

4'¢ﬁi¢rﬁgﬁmﬁﬁ$ﬁrmm‘3 ¥ T gaer 3

Question Number : 82 Question Id : 630680184181 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

=T & ¥ 3°T &7 § coafiyg a=g &1 999 Fi-

Options:

- ST ST A5 o v T Afge|

v of fager Afger S wofser amag)

2. %

L A T Ay v g Afger o

. A SAdr FUSEr 718 v g of|

Question Number : 82 Question Id : 630680184181 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



f=fofeT # ¥ 39 &7 & cuafiyg 990 &1 999 Fi-

Options :

- ST FUTSAT A17g o v T Afgen|

v off fager Afger A wufser amg)

2. %

L A T Ay v g Afer o

4%mmwmﬁmﬁﬁm@mﬂﬁﬁﬂ

Question Number : 83 Question Id : 630680184183 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

froian I # 36 FUF 30 T (1) & & & fomn 7w g, O 3l &7 FAEER
e Ta-

(1) Tt 3=
() R 7% (@) W g5 & (1) O R (7) Fo A

Options:

%« FTTH
) THFIT
3% HEHFT

4 TFTT



Question Number : 83 Question Id : 630680184183 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

froian I # 36 FUH 30 T (1) & & & fomn 7w g, A9 3l &7 FAEER wat
e To-

(1) Teteifer 3t
() R 7% (@) W g5 & (1) 7 O (9)
Options:

% FATH
) TFIT
3% FITTT

4 TFTT

Question Number : 84 Question Id : 630680184209 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
i oo % 39ged ‘et wreg gar a7 few e @ qfd FE-

ol Iy T & 59 A W &

Options:

1 % T8




Question Number : 84 Question Id : 630680184209 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
it o & 39 ‘Rt et qa g # ew e & 9fd FE-

‘FHIO_HR T & 568 H W &l

Options :

1% T8

Question Number : 85 Question Id : 630680184215 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

39ged e Tt I # g v @ Ifa a1

‘JA- FFIST F 3T T ST =R

Options:

1. % &RT



Question Number : 85 Question Id : 630680184215 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FUged faehed AR I # R wu= #r 9fF +:¢%-

‘T- FFICT & =g T F=T =R

Options :

1. % &U

z_ﬁﬁmm

3.« HI&UT

4 # BN

Question Number : 86 Question Id : 630680184222 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



g FAT arel famed Taaw I A R v # 9f ¢

‘ T HYT #T9T 8|

Options :
1. % TasremST
) % Lo

3, v FSTETET

4 % TN

Question Number : 86 Question Id : 630680184222 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A= JaeT arem faeren AR T # Rea = & 9fa ¢

‘U YT AW gl
Options :

1 % TaStsTST

5 % AT

3 SAAET

4. % T



Question Number : 87 Question Id : 630680184241 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

WﬁﬁWWﬂﬂﬁ e IFT F g T—ﬂmﬁrqﬁaﬁ:
T HAT & F ;Fd ¢ ST W FIS AT Aoal THF H g A
Options :

1. % BT

Question Number : 87 Question Id : 630680184241 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g f3RIV0T &1 IO e aa # R Fue A i H-

TT AT gfe F1 afFd § gafw 38 FI5 AT el FAH H Tgl A1

Options :

1. % B




Question Number : 88 Question Id : 630680184251 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
SIS HT TIS FF AT H RaFad T g -

TYATYT Fgd &I F TR o T o1

Options :

'|.zsg?ﬂ'3:"

2. % &

4. % €I

Question Number : 88 Question Id : 630680184251 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
3UGFT UG FT AAA FF aFT H RNeFd T & qfT FE-
TLATY FEA T F FEN & T o1
Options :

1_ug?ﬂ'ﬂ:"

5> % TEAT



4. % EIC

Question Number : 89 Question Id : 630680184079 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TF A A0 £ T F @i oee # B R ¥ vieruiE G o g 2

Options:

1 ¢ THAFH

5> % el

4 % TTeIH

Question Number : 89 Question Id : 630680184079 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ToF AEF A £ T & [@ied Ieg # E eew ¥ v Twm a w2

Options :

1 ¢ TEAF

> % el



4 % TR

Question Number : 90 Question Id : 630680184089 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Held 5% B AT # T T a6 FRET 39 & T §| T & 1@ 3 H FeleaH
Rew @ ownfg &-

Options :

1. % HAar

Question Number : 90 Question Id : 630680184089 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

g 7 @ afE & 1 T T 7 3 @ T §| T & W@ied 39 F WA
fweT ¥ yowTia -

Options :

e




Question Number : 91 Question Id : 630680184071 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
7 B 7w 7 o AR T ¥ et o # R e @ el B s wea

Options :

4 % TUTY

Question Number : 91 Question Id : 630680184071 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
7 B 7o 7 e TRv) T & Yot uw @ e Reer @ venfe fw s w7

Options :

1, % ST



4 % AT

Question Number : 92 Question Id : 630680184104 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TeT IoT GRS T I TFT H HiT T HTFR 87

Options :

1. ¢ 2

2. % YHP

3 % 209

Question Number : 92 Question Id : 630680184104 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ToT o7 GRETdT T 3 T # Fid T AR 82

Options :

1.+ 2



2. % UHP

3 % 0

Question Number : 93 Question Id : 630680184121 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

A AN Ay & F) TR 3T a9 A FF Ay’ ST F FT @ R g2
Options :

1. % Hiaerm=Ea

2 % E=dEEd

343@%&

4. ® IEEEIE

Question Number : 93 Question Id : 630680184121 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A AN Ay 7 F)| JAR 3T a7 A 7 Ay’ T F FT @ R 82
Options :

1. % Hiaerm=a



2 ® H=aied

4. ® IEECIES]

Question Number : 94 Question Id : 630680184131 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

¢ & TWOT & 3T H 309 IT &9UH T &, 39 FT Fed &7

Options :

’I.v”aﬁ

Question Number : 94 Question Id : 630680184131 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
O & WOUT F JT H 3gUT T TRF AT §, 3/ AW FES 22

Options :

v I



Question Number : 95 Question Id : 630680184151 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
og AR A # e & Wi @1 gIF gAfoa 2 82

Options :

1 = e - 22 AT

5> % TIATT - 24 AT

3 v AR - 14 \ATEC

4 % e - 30 AT

Question Number : 95 Question Id : 630680184151 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

o 3R A #r TRE T FiT W FH gART A 22

Options :



1 = TSR - 22 AT

5> % TIATT - 24 AT

3 v AR - 14 \ATEC

4 % e - 30 AT

Is Section Default? : null

Question Id : 630680180086 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)

U T hRUT Igd o AFEE 3R SrETd 8T &; WR 1gT ol ShRuT FAfEE 3k A1 g1 & | sofi-apeft dhaet Teas @y
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Sub questions

Question Number : 96 Question Id : 630680180087 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
feherent sror fAfdE ok A gar & 2

Options :

1. % RS @

2.



&k
3. % O o

4. % oS I

Question Number : 97 Question Id : 630680180088 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

TEIiRT & AR "UH g & gl Sfia--spd & gia1 8| ' SURI<h aTeRI et QX1 hifordt

Options :

1. % IMTRYUT T hg;

2. % 7 Y U< A 38k

3. ¥ HAd HIEThR e st

4. % F UHE e T ST

Question Number : 98 Question Id : 630680180089 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TEIIRT & AR 'HGT | g[T Uget Al IR T it g3 fohd dh Ugddi 8'?

Options:
1. % o7
2. v 9ga
3. ® o
4. % tifq

Question Number : 99 Question Id : 630680180090 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
TEIiRr o SER Ui # fohgeh! guT=dT gidl 8'?

Options:
1. ¢ afh &t
2. % oIS hi
3. ® g hi

4. % gRarR &

Question Number : 100 Question Id : 630680180091 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

7 & T uxgd mTerier a1 Iugeh e -

Options :

1. ® Sfiaq-sA
2. v UH 3R UgT
3. % Hlgd

4. % {dd Hi&MehR

Question Id : 630680180086 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)

U ol hRUT 9gd $© AT 3R AT 8T §; TR Hgl T hRUT AfEE ok F1a gl & | aft-areft dhaet g @1y
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% Fdd ISR T AT BT & | I8 IThT IS, ST, TeA-T-Fhe1, TH1,@HT-UHT 99 $© &1 I1gdT & |
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Sub questions

Question Number : 96 Question Id : 630680180087 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fergrent shRoT fAféE sk T gl @ 2

Options :

1. % RS @
2. ¥ Gl Il
3. ¥ gH o

4. % TATS hl

Question Number : 97 Question Id : 630680180088 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
TN & YR 'O O & ool she-pm & g1 8| ITRIh 1 i QT hifSid

Options :

1. % ITHYUT I e

2. ¥ 79 § U< & 38R

3. ¥ Ad HIEThR el ATt

4. ¥ T UGS A T ST

Question Number : 98 Question Id : 630680180089 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TR & AR "ol A Y Ugel AT R @ g g v a ugad 212



Options :
1.% U9

2. v 9ga
3. % &ty

4. % tifq

Question Number : 99 Question Id : 630680180090 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
T oh SR Ui & fohgeh! geT=dT gidl 82

Options :
1. ¢ ik &t
2. % ATl
3. ® g hI

4. % gRarR

Question Number : 100 Question Id : 630680180091 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
A= & & uegd e o1 Jugh Lfives -

Options :

1. ® Sfaq-sA
2. ¢ U7 3R AgT
3. ¥ getgxdr

4. % gdd HI&MhR
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Examiner permission : Cant View
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Section type : Online

Section Negative Marks : 0.25

Enable Mark as Answered Mark for Review and

Clear Response: ves

Maximum Instruction Time: 0
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Question Number : 101 Question Id : 630680186817 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which fruit crop is suitable for growing in plastic walk-in-tunnels?

Options:

1 % Apple

2 % Jackfruit

3. ¢ Strawberry

4 % Mango

Question Number : 101 Question Id : 630680186817 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Fi W B & T (fuit crop) weTEeH I-gA-cAw # (plastic walkein-tunnels) T % faT SugE

B 82

Options :

1. % §9 (Apple)

5 % @cge (Jackfruit)

3 el (Strawberry)

4 » 3 (Mango)

Question Number : 102 Question Id

: 630680186837 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The design and drafting of a landscape garden with the aid of computer is known as:

Options :

1 = Computer And Design

> % Computer And Display

3. Computer Aided Design

4 % Computer Art and Design

Question Number : 102 Question Id

: 630680186837 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FFE 1 T ¥ (e Tl 3 (1andscape garden) & f3oTsa AR ST (drafting) @

A

Options :

- FegeY 3R B (Computer And Design)
5 % Fegey AR fEFeer (Computer And Display)

3 ¥ Fegel Uss 338 (Computer Aided Design)

4w Fege e iR f3amsa (Computer Art and Design)

Question Number : 103 Question Id : 630680186842 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The most serious weed in lawns is:

Options :

1 % Agrostis tenuis
5> % Axonopus affinis
3.« Cyperus rotundus

4 w Paspalum vaginatum



Question Number : 103 Question Id : 630680186842 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT T 3T T TITER gIar €l

Options :
TATECH <5 H (Agrostis tenuis)

, » CFHEAME THEE (Axonopus affinis)

3 v TEYH UEH (Cyperus rotundus)

4 % TEAOIH FageAcH (Paspalum vaginatum)

Question Number : 104 Question Id : 630680186849 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

For sun drying of vegetables. which type of tray screen is best for spreading of materials?
Options :

1 = Tetlon coated fibreglass

2. % Wooden dowel

3.« Stainless steel

4 % Jute gunny bag



Question Number : 104 Question Id : 630680186849 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Hertt 3 WX o (sun drying) & e w1 ema & fore frw 9@ 1 € B (ray screen)
TeleaR A 47

Options :

| « Tl AT wrEEeerd (Teflon coated fibreglass)

- FHET FT == (Wooden dowel)

5 v FeAAH I (Stainless steel)

4% T Fr I (Jute gunny bag)

Question Number : 105 Question Id : 630680186864 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The main principle of low tunnels is:

Options :

1 = protecting from insects

5 « aintaining CO; concentration

3 % maintaining relative humidity

4 % aintaining O concentration



Question Number : 105 Question Id : 630680186864 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
o Tew (low tunnels) &1 A&T f&ara Far gar 82

Options :

1. % FET T gEE

,  CO, HIEdT SATT THeAT

5 % TIUET HGdT §ATC IGAT

4« O WISl F=ATT QAT

Question Number : 106 Question Id : 630680186869 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Rose is commercially propagated by:
Options :

1 % rootcutting

5> % patch budding

3 % ring budding

4w T’/ *Shield” budding



Question Number : 106 Question Id : 630680186869 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T P TONT SUEEEAE §9 ¥ F9OT (propagated) FFam STaT £

Options :

|« &€ HIEI (root cutting)

, » 9= &3 (patch budding)

5« 3T &S (ring budding)

49 11 ‘offes’ FT29T (‘T'/ ‘Shield’ budding)

Question Number : 107 Question Id : 630680186886 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

‘Handbook of Economic Entomology for South India’ is written by:
Options :

1« TV Ramakrishna Ayyar

2. % MS Mani
3. % T Kumara Swami

4 % KK Nayar



Question Number : 107 Question Id : 630680186886 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Options :

| CLAT. THFUT HTR

2 % UH.UH. Aor

- a.wm

4. % F.F. AT

Question Number : 108 Question Id : 630680186893 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The *Tatura trellis’ training system of plants was developed in:

Options :

1.« Australia

5 % Germany

3. % the Netherlands

4. % India



Question Number : 108 Question Id : 630680186893 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
dtet Fr TN Lo (Tatura trellis)” FFRETOT Fomedr 7 fwfia & 713 o)

Options :

1.4 Eu”;ig m

4, % AT

Question Number : 109 Question Id : 630680186903 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a key characteristic of organic farming?
Options :

1 % Protecting the long-term fertility of soils

> w Biological nitrogen fixation and effective recycling of farm waste

3.+« Use of herbicides to check the weeds

4 % Use of natural predators and bio-pesticides



Question Number : 109 Question Id : 630680186903 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Frafefed & ¥ Fla-r 3w o & 97w R 78 82

Options :

| w FET T ErEhITerR 3SR T TET A

. Sias aATserster EudieoT 3T @F F IOfRIST FT Jrer qAemoT

2.

3 v BROGER a0 & e ensantt &1 393 aar

4 TTEpicen SR 3R SAT-RIEARIE F STHRT FET

Question Number : 110 Question Id : 630680186905 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Katha (catechu) is obtained from:
Options :

1.+ heartwood

2. % leaves

3 % Dods

4. % I0OOfs



Question Number : 110 Question Id : 630680186905 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
FedT (Fe) ¥ 9o faar Smar 2

Options:

1 v HedHeS

3_zsq;ﬁ_~'ﬁ'

4 % S

Question Number : 111 Question Id : 630680186907 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The exotic bee (Apis mellifera) was successtully introduced in India for the first-time during the year
Options :
1 % 1942
2 % 1952

3 v 1962

4 % 1972



Question Number : 111 Question Id : 630680186907 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

fagel memRdt (v AfesT- Apis mellfera) & T % N e O KA A Ao
vy famar o o)

Options :
1 % 1942
> % 1952

3 v 1962

4 % 1972

Question Number : 112 Question Id : 630680186908 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The most popular bee hive in South India is:
Options :

1.« Newton's bee hive

2 % Nucleus hive

3. # Jeolikote hive

4 w Langstroth hive



Question Number : 112 Question Id : 630680186908 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
EfaT0T TRE F TS AT AYAFE T Tedl gl

Options :

| TICH Tedl (Newton’s bee hive)

- =g{FTH Beal (Nucleus hive)

3 % SANCRRE TedT (Jeolikote hive)

4 % oferEarer ©ear (Langstroth hive)

Question Number : 113 Question Id : 630680186920 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Arka Isha is a variety of:

Options :
1. % amaranth
2« corlander

3 w fenugreek

4. % radish



Question Number : 113 Question Id : 630680186920 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
37T ST #r T FEE T

Options :

Question Number : 114 Question Id : 630680186922 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The seed rate of amaranth for transplanted crop is:
Options :

1 « 1.0—1.50kg/ha

4 % 4.0-4.50kgha



Question Number : 114 Question Id : 630680186922 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T B & e It & 9 g Far 82

Options :
1 « 1.0 - 1.50 kg/ha
, % 2.0- 250 kg/ha

5 % 3.0 - 3.50 kg/ha

4 % 4.0 - 4.50 kg/ha

Question Number : 115 Question Id : 630680186928 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The purple colour anther is found in the species of:
Options :

1 % Capsicum anmmum

> % Capsicum baccatum

3. % Capsicum chinense

4+ Capsicum pubescens



Question Number : 115 Question Id : 630680186928 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
§IAT T FT WETER FE ST F o9rar ST g2

Options:

- farrem @< w3 (Capsicum annuum)

, « e A= §%eH (Capsicum baccatum)
5 « e fA=r RST (Capsicum chinense)

y o TRV < “g=&® (Capsicum pubescens)

Question Number : 116 Question Id : 630680186930 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Sporophytic type self-incompatibility occurs in:

Options :

1.+ cauliflower

5 % COwpea

3. % okra

4. % onion



Question Number : 116 Question Id : 630680186930 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
TIRIETSes TR Fr TF-3meTa oFge gidr 87

Options :

Question Number : 117 Question Id : 630680186961 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Dihydroflavonal-4 reductase gene (dff) was used to modify which trait in petunia?
Options :

1 = Flower fragrance

2. % Flower architecture

3.« Flower colour

4. % Plant size



Question Number : 117 Question Id : 630680186961 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

SEssRR-4 Newen S (df) & 3 Rl & fre we & wifts ww § B G
m?

Options :

1. % = 3
2_%-5 -

3 el &bl &7

4 % S FT HER

Question Number : 118 Question Id : 630680186964 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Jasmine is commercially propagated through:
Options:

1 mature wood stem cutting
> % very soft cutting
budding

3. *®

4 % Toot cutting



Question Number : 118 Question Id : 630680186964 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
THT HT AGAAR T T TTUT hdes Aregd ¥ Far Jrar 272

Options :

| v TREET TFET & TS @ oA

Elgd ald{H choir
2. %

3 % SioeprdeT

4 % 5 FAHA

Question Number : 119 Question Id : 630680186974 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characters indicate to acidity of lawns?
Options :

1 = Patch burning of grass

2« Growth of moss

3. % Growth of ants

4. % Growth of weeds



Question Number : 119 Question Id : 630680186974 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
AT & ¥ Fia-a1 F&707 a1 (lawns) Fr 3ar 5T = 22

Options :

1 % ©TH & T Zga

) v T AR

5w e IR

4 » TROCERT # e

Question Number : 120 Question Id : 630680186986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How many cuttings can be obtained from mentha per year?
Options:
- .
1. ¢ 2 3 cuttings
> % 0—7 cuttings

3 % 5 —6cuttings

4 % 71— 8cuttings



Question Number : 120 Question Id : 630680186986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
HUT (mentha) T 9T a¥ BFael Fad 9o & ST Fehdr 27

Options :
1 v 2-3 FaA
> % 6 -7 FaH
3 % 5-6 FaHA
4 % 7 -8 FaA
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

Discipline2
Section type: Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Yes

Clear Response:
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 121 Question Id : 630680186828 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fruit crops requires more man-day per hectare area?

Options :

1. % Aonla
2 % Ber
3 Grape

4 w Custard apple

Question Number : 121 Question Id : 630680186828 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

forfofea & & G5 v & w8 (fruit crop) F 0 9 39 &9 7 30T 9w =W (man-day)
EIERET G

Options :

|« HEST (Aonla)
, « X (Ber)
- 3R (Grape)

4 % 2R (Custard apple)



Question Number : 122 Question Id : 630680186832 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In factory landscaping, the aim is to improve the aesthetic beauty of the place and reduce the
Options :

1 % garbage
5> « Dollution

3. % siress

4. % maintenance

Question Number : 122 Question Id : 630680186832 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

PG Si'gﬁamw (factory landscaping) &, T (place) Fr Hledw® ga'{T-IT " QUR A eIy
P R 3 A 8

Options :

1. % &N

R

3. % qadld



Question Number : 123 Question Id : 630680186838 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

is a closed area of image bounded by straight or curved lines and filled with one solid colour.

Options:

1. % Frame buffer

5 « FPolygon
3 % Line

4. % Point

Question Number : 123 Question Id : 630680186838 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

P (image) #1 T WgA & (closed area) @ ¢, St Hndt a1 grreer Yans & oteg @
¢ 3 v fafese 707 (solid colour) ¥ &7 &1 21

Options :

| » WH BT (Frame buffer)

5 ﬁT_{Sj?T (Polygon)

3 % @ (Line)

4w fag (Point)



Question Number : 124 Question Id : 630680186865 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fruits is developed from a single flower having apocarpous pistils?

Options :

1. ¢ Strawberry

2. %

3 % Pineapple

4. % Jackfruit

Question Number : 124 Question Id : 630680186865 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

farafofl # # ala o1 o fagwarsdh T (apocarpous pistls) &t et T F ol @ 87

Options :

1 ¢ el (Strawberry)
5 % AT (Fig)
Hdea1d (Pineapple)

3. %

4 % PCEA (Jackfruit)



Question Number : 125 Question Id : 630680186866 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which vegetable has a very high rate of respiration at harvest?

Options :

1. ¢ Asparagus
2 % Onion

3. % Potato

4 % Cabbage

Question Number : 125 Question Id : 630680186866 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

%@{hawest)#m%\qmiﬁr%mﬁm‘a@?mﬁﬂ?ﬁﬁ?

Options :

1 TaEX (Asparagus)

5 % SIS (Onion)

3 % 3Te] (Potato)

4 » FEes (Cabbage)



Question Number : 126 Question Id : 630680186867 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fruits is climacteric in nature?
Options :

1 % Grape

2.« Guava

3. % Litchi

4 % Pomegranate

Question Number : 126 Question Id : 630680186867 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
rafafaa 7 & a9 1 o Tl § Fa4 Aghced (climacteric) T g7

Options:

3-1?13' (Grape)

1. #

5 31H%G (Guava)

o x © (Litchi)

4 = 3 (Pomegranate)



Question Number : 127 Question Id : 630680186877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The first bacterial disease *fire blight of pear’ was reported by:

Options :
1.« Burrill in 1878
2. % Fischer in 1897

3. % Elliott in 1930

4 % Campbell in 1981

Question Number : 127 Question Id : 630680186877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TR SV 3, AT 1 g7 3R (fre blight of pear) e gamy sfasfem fan w4

Options :

. 1878 & gha

> = 1897 # ™

5« 1930 # sfome

4 % 1981 H Faad



Question Number : 128 Question Id : 630680186881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The botanical name of golden shower is:
Options :

1 = Gloriosa superba

» « Bignonia venusta

3 % Cryptostegia grandiflora

4 % Atistolochia grandiflora

Question Number : 128 Question Id : 630680186881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HAGTTH (golden shower) &7 IATIfa® ATH 4T 272

Options :

- TAITYSET GIaT (Gloriosa superba)

, v TEAIATT 3ET (Bignonia venusta)

3 % SreeIEEITaar d=8TFaiRT (Cryptostegia grandiflora)



4. % eiEeret=rr dSEFERT (Aristolochia grandifiora)

Question Number : 129 Question Id : 630680186887 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Cantharidin is a useful substance, produced by:

Options:

1. % cochineal insect

> w glantfly
3.« blister beetle

4. % lac insect

Question Number : 129 Question Id : 630680186887 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

=& (Cantharidin) T 39arEh 9ery ¢, 97 o garr RfdT e &2

Options :

1 % I FIE (cochineal insect)
, % TSRITETRTT AT (giantfly)

5 o BT &7 (blister beetle)



4 « o FIE (lac insect)

Question Number : 130 Question Id : 630680186923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which vegetable crop are male and female flowers found on separate plants?
Options :

1 % Bitter gourd and pointed gourd

5> % Cucumber and wax gourd

3« Little gourd and pointed gourd

4 % Wax gourd and ivy gourd

Question Number : 130 Question Id : 630680186923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fre Tealt & BHA # R 3R AlGT G HAT-3HewT qrul T 9T A 22

Options :

1. % el AR TR

5 % epar 3R 9T

L o ToE T 9T



3T 3T Fw

Question Number : 131 Question Id : 630680186936 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The National Programme for Organic Production (NPOP) has been launched by:

Options :

1 % the Ministry of Agriculture and Farmers Welfare
5> % the Ministry of Skill Development and Entrepreneurship
3. % the Ministry of Environment, Forest and Climate Change

4« the Ministry of Commerce and Industry

Question Number : 131 Question Id : 630680186936 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T AT e FwA (NPOP) frmes gamr o famam arm &2

Options :

_ _
1% F AT BT Fearor T

, » e e HR seafAar Juey

- TAEOT, F AR Ferarg IRaas Ao



, Tt 3t g gEeT
4. &

Question Number : 132 Question Id : 630680186939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following training systems is suitable for bountiful harvesting of tomatoes in a polyhouse?
Options:

1 2-Stem system
> % Without any system
3 % I-Stem system

4 % 5-Stem system

Question Number : 132 Question Id : 630680186939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TTNEER A TAIT # T T3 F (o eAored 7 § Fa-H TR FoTeh 39 ¢7

Options :
1 2-TCH JUTel

5> % Tee foRET SoTelr

3 % 1-B&H gomelr



4 % 5-FCH YU

Question Number : 133 Question Id : 630680186944 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which factor is essential to get the best flavour of fruits in pomegranate?
Options:

1« Warm and cool night

5> % Highhumidity

3 » HighCa

4 % Highrainfall

Question Number : 133 Question Id : 630680186944 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HAR-FdA & 3cadHq TIE I°d A & [T HIF-AT FLF HGTF 27
Options:

1.4 IH AT FE T

> % 3= AT

3. % 3= Ca



4. % 3= Jur

Question Number : 134 Question Id : 630680186946 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The genomic constitution of Amrit Sagar cultivar of banana is:

Options:
1. % AAB
2.« AAA

3 % ABB

4. % AB

Question Number : 134 Question Id : 630680186946 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fo & AT GPR TSId & siefiiEe §ued (genomic constitution) 2T 2|

Options :
1. % AAB

2. v AAA

5 % ABB



4 % AB

Question Number : 135 Question Id : 630680186956 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of following hormones accelerates the ripening in harvested bunches of bananas?

Options :
1. % B-Nine
2. % MH-40

3.« Ethrel

4. % AMO-1618

Question Number : 135 Question Id : 630680186956 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Rrafafis & & A g 590 5 = v el & w7 @ 4w w
Options :
1. % B-Nine

5> % MH-40

3.« Ethrel



4 % AMO-1618

Question Number : 136 Question Id : 630680186957 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
‘Mal d 3" allele of apple is related to:

Options :
1 % self-incompatibility
5> % drought tolerance

3« allergenicity

4 w late blight resistance

Question Number : 136 Question Id : 630680186957 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

¥w 1 'Mal d 3' FeaAfawesT e FafoT giar &7
Options :
1. % -3

5 % ST Hgerefrerdr

3_4@%@&



4. % ﬁﬁﬁmm

Question Number : 137 Question Id : 630680186963 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Jwala and Himroj cultivars of rose are developed by:

Options :

1 % NBRI, Lucknow

> % CIMAP, Lucknow

3. [HBT. Palampur

4 % IHR, Bangalore

Question Number : 137 Question Id : 630680186963 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Tee T FaTem AN A e T ewfaa F ar §

Options :
| =« NBRI, a@a%

, « CIMAP, &

, , HBT, T



4 % IHR, der@R

Question Number : 138 Question Id : 630680186973 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sufficient quantity of lutein is obtained from:

Options :

1 = palashtree

5>  marigold flowers

3. % rose fruit

4 w Dbird of paradise

Question Number : 138 Question Id : 630680186973 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
wgfes HT I A T 9reg 2T 2

Options :

| % GO F IS
, » & & Fel

aTelle <hl el
3'%643



, « T8 36 RS

Question Number : 139 Question Id : 630680186976 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a limitation of CAD in landscape architecture?

Options :

1« Design cannot be formed without knowledge

> % Drawing errors can be corrected easily

3 % Design can be reused

4 % Can be stored in a safe place

Question Number : 139 Question Id : 630680186976 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
=T anfaea=r 7 Ae@T # ¥ #i7-8r CAD & v dFr 272

Options :

| v oA F A & R AE s S 6 g

- e Y et F AT F & AT I Ferar €



- s @1 9= 3vanT fRar o weRar @

4w giarT T 9T @ ST FFRAT

Question Number : 140 Question Id : 630680186982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Garlic is commercially propagated by:

Options :

1. % seeds
2. % bulbils

3« single cloves

4. % whole bulbs

Question Number : 140 Question Id : 630680186982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ARG I SAEHIF T § Fa8 I R ST 2

Options :

1 % =T (seeds)

, » T (bulbils)



3 o Tehel #teT (single cloves)

4w I Aehehe (whole bulbs)
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Question Number : 141 Question Id : 630680186813 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to FAO (2020), India is the largest producer of:
Options:
1. % chilli

2 % cluster bean

3. % cucumber



4.« okra

Question Number : 141 Question Id : 630680186813 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FAO (2020) % @R, HA F FEY 37 3cIEH g

Options:

| = & (chill)

, % FAICEAr (cluster bean)

5 % @RI (cucumber)

4 v TS (okra)

Question Number : 142 Question Id : 630680186836 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

For countryside landscaping, emphasis should be given on:
Options :
1« economic consideration and utility

> % aesthetic beauty

3. % providing coolness



4 % Teducing soil erosion

Question Number : 142 Question Id : 630680186836 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TAICT 87 SEIAFOT (countryside landscaping) & fAT, R AN fear e i

Options:

| » ¥ e i 39AREr (economic consideration and utility)

- BlgdTF HeIaT (aesthetic beauty)

3 % Sdeldr Helel X (providing coolness)

4w o1 A &l %A HLa (reducing soil erosion)

Question Number : 143 Question Id : 630680186852 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following flowers is NOT suitable for drying?

Options :

1 % Helichrysum

2 % Acroclinium



% Statice

4. Larkspur

Question Number : 143 Question Id : 630680186852 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ol & & #ia 71 T o & BT 39gea a8 g 82

Options :

| « greishaA (Helichrysum)

, » hITei=ad (Acroclinium)

5 » FefeH (Statice)

4 v FTFEER (Larkspur)

Question Number : 144 Question Id : 630680186854 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Apple slices are dried by:

Options :

1. % air convection drier

2« Kiln drier



3. % cabinet drier

4. % tunnel drier

Question Number : 144 Question Id : 630680186854 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U F FoSH F ZART QT ST 2
Options :

| % a1g Hags eYeeheh (air convection drier)
5 T Yeeheh (Kiln drier)

- hideAC Yceheh (cabinet drier)

gelel Yeeheh (tunnel dryer)

Question Number : 145 Question Id : 630680186870 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
In plant growth movement, the differential growth response with greater growth on the lower surface of an organ is

known as:

Options :

1 % phototropism

5 % geotropism



3. % epinasty

4. hyponasty

Question Number : 145 Question Id : 630680186870 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TEd 3¢ Ay (plant growth movement) &, R ¥ & fme 56 W AW 3 & @y
i gl (differential growth response) e 8|

Options:

mn@a‘c‘m (phototropism)

1. %

L .
5 x IR (geotropism)

- G (epinasty)

39fg=a (hyponasty)

4. &

Question Number : 146 Question Id : 630680186873 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tvlenchulus semipenetrans is a

Options:

1.+ citrus nematode



2. % root-knot nematode

3. % ear cockle nematode

4 % burrowing nematode

Question Number : 146 Question Id : 630680186873 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

CTSelegery AU (Tylenchulus semipenetrans) T gl

Options :

1.¢ fogw aARE ( citrus nematode)

H-IS SATES (root-knot nematode)
2. # o,

5« T FiFo AARIS (ear cockle nematode)

4 % ST AAEE (burrowing nematode)

Question Number : 147 Question Id : 630680186875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In Drosophila, the phenomenon of translocation was first discovered by:

Options:

1. % Darwin



5 % Morgan

3. % Mendel

4 Bridges

Question Number : 147 Question Id : 630680186875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

STATheT (Drosophila) H, TATeaRUT T TNEET $r BT FIwIH 0k gamT #r 71 4

Options :

., ZfaeT (Darwin)

1.

. HAEE (Morgan)

2.

5« Hse (Mendel)

4 v T8 (Bridges)

Question Number : 148 Question Id : 630680186879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT suitable for topiary purpose?
Options :

1 % Duranta plumieri



5 % Murrava exotica

3. % Clerodendrum inerme

4« Casuarina equisetifolia

Question Number : 148 Question Id : 630680186879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

fefafa 7 & Fi9-a1, Faa For F OT 397w 74 82

Options :

- g8er wafATdr (Duranta plumier))

- AT TFAEIEH (Murraya exotica)

3 % FOIESH TAH (Clerodendrum inerme)

4 %ﬂiiﬂl sTFgafewi™aT (Casuarina equisetifolia)

Question Number : 149 Question Id : 630680186883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The first commercial application of microwave energy in food processing was for drying of:

Options :



1« Dotato chips

2 % carrot

3 % oyster mushrooms

4. % turmeric

Question Number : 149 Question Id : 630680186883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T THERT # AEHIE Fofl &1 T AW e F G & o o

Options :

1_9}3413{[?5%1:&?

2. % T

3, # ATESL HIERHA

4 % B

Question Number : 150 Question Id : 630680186899 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In India, which type of mushroom is grown at commercial level?

Options :



1 % Oyster mushroom
> % Paddy straw mushroom

3. % Milky mushroom

4. + White button mushroom

Question Number : 150 Question Id : 630680186899 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T & OEEde TR W 5T YR &1 FUwH 3e0ar Aar 27

Options :

1 % HTUEET AUTH

5« 3T T AARH

5w TOET FARH

4 v ThE SCA AARH

Question Number : 151 Question Id : 630680186901 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Rishi Krishi (Rishi Kheti) system was evolved by:

Options :



» Mr. Mohan Shankar Deshpande

> % Mr Dilip Das Desai

Mr. Gyani Shankar Pandey

4. % Shri. Subhash Palekar

Question Number : 151 Question Id : 630680186901 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
Y F (FT @) gomer FeF @ FwET & g O

Options :

| v S AlgeT AT e

5« A i gra gwrs

3 % S AT AHT ORI

4%53%.@%

Question Number : 152 Question Id : 630680186915 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Marmalade is generally prepared from:

Options:



1« SWeet orange and mandarin orange

> % mango and banana

3. % Papaya and bael

4 % Dbapaya and banana

Question Number : 152 Question Id : 630680186915 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
A& (Marmalade) BTATI: ¥ oI Far S g

Options :

1 v HS TR IR #=hE I

5 % HTH AR Few

3 % TUET T g9

4. % mﬁm

Question Number : 153 Question Id : 630680186933 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vegetables requires rapid cooling after harvesting to remove field heat?

Options :



1.« Carrot

2 % Garlic

3. % Onion

4 % Sweet potato

Question Number : 153 Question Id : 630680186933 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

S 1 3 (field heat) & T FA 3 o arofen # & o wesht 31 5% ¥ a1 @i o
T FETHT A 7

Options :

1. v M=

4 % UAFTHE

Question Number : 154 Question Id : 630680186937 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

‘Torkel” is a red colour variety of . which is suitable for protected cultivation?



Options :

1. % Tomato

5 « SWeet pepper

3 % Cherry tomato

4 % Chilli

Question Number : 154 Question Id : 630680186937 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Tiehet (Torkel) e 1 e S aEa g % e suged §2

Options :

1. % SHIT

5> v e A=

3 % T TART

4. % B

Question Number : 155 Question Id : 630680186949 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Coppicing and pollarding are a form of:



Options :

1 % thinning out

5> « heading back

3 % deblossoming

4 % linging

Question Number : 155 Question Id : 630680186949 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HEfoF Faa #T AT F39 (Coppicing and pollarding) F TN £

Options :

Question Number : 156 Question Id : 630680186950 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The mango variety Pusa Manohari is developed by the cross between:



Options :

1 = Amrapali and Janardan Pasand

> % Amrapali and Vanraj Arunika

3 Amrapali and Lal Sunehari

4 % Totapari and Kesar

Question Number : 156 Question Id : 630680186950 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

HA e @ mAEd B s d9 e Er R e mr 82

Options :

| % TECTEr HR FACS 999G

> % HTHITEN HR FoRIS HTOweRT

3_¢mﬁr3ﬁ'{mg?@ﬁ

4 % aramdr #R FET

Question Number : 157 Question Id : 630680186965 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The epilithic orchids is grown on:



Options :

1 = host plants
> % dead or decaying organic matter

3 % ground

4.« rocks

Question Number : 157 Question Id : 630680186965 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fRfaf@s 341fFs (epilithic orchids) UY 39T AT g

Options :

1. % gqyamT St

. ﬁﬁwm@gmﬁmwﬁ

2.

3. % FA

4. € |

Question Number : 158 Question Id : 630680186969 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Chrysanthemum variety ‘Dr. S Mukherjee’ comes under the class of:



Options :

1 = reflexing

5  incurving

3 % quilled

4 w Tlegular incurving

Question Number : 158 Question Id : 630680186969 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TeE3Er (Chrysanthemum) s ‘ST, T, @t 5@ &1 & 3icia e 27

Options :

1_um

Question Number : 159 Question Id : 630680186978 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The cashew nut is planted at a distance of:



Options :

3 % 113X 11.5m

D
#
—
Ln
L
>
o
LA
.
—_
=

Question Number : 159 Question Id : 630680186978 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FT= & gl | A A g

[

Options :

1% 3.5 x3.5m

2w 7.5 x 7.5 m

5 % 115 x 115 m

4 % 155 x 155 m

Question Number : 160 Question Id : 630680186990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a principle of organic farming?



Options :

1 = Principle of ecology
> w Principle of health
3« Principle of adaptability

4 w Principle of care

Question Number : 160 Question Id : 630680186990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fr=fof@a 7 ¥ sia-ar 2t o &1 fEa 748 87

Options :

e e
2 ® LT & BE

3. 2% T

4. % mﬂaﬂm
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Question Number : 161 Question Id : 630680186826 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Netting is an important practice in:

Options :
1 % gerbera
2 « carnation

3. % rIOse

4. % corn flower

Question Number : 161 Question Id : 630680186826 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
H ST oETaT (Netting) Teh Fgeaqor Sfshar gl

Options:

1_um



5 TIHAT

3. % 2

5

4 % I FoITE

Question Number : 162 Question Id : 630680186829 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Idiosyncratic risk is related to:
Options :

1« employment guarantee programme

> w farm machinery

3. % credit information

4. % weather risk

Question Number : 162 Question Id : 630680186829 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

sfRafasfes A/A (Idiosyncratic risk) T gefag g g

Options :

1. ¢ U ITET FEAFH (employment guarantee programme)



, F TT (farm machinery)

3 % FUT H=aT (credit information)

4 » FIEH % SA@H (weather risk)

Question Number : 163 Question Id : 630680186835 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The place where garden CANNOT be created in the factory area is:

Options :

1 % administrative building

2. # canteen

3. % rest shed

4+ Mmanufacturing unit

Question Number : 163 Question Id : 630680186835 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
_ SR 87 & 9¢ T 81 §, @1 3¢ I [AAT T g Tohe gl

Options :

| » FRIMAAF = (administrative building)



$ET (canteen)

2. %

3 x 3RTHAIE (rest shed)

4 TRTAHTOT $TS (manufacturing unit)

Question Number : 164 Question Id : 630680186853 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Shade drying is suitable for:
Options:

1 % Dotato

2. % cassava

3.« &reen bean

4. % colocasia

Question Number : 164 Question Id : 630680186853 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

OIAT e (Shade drying), ¥ fore sugea ger 2
Options:

3Te] (potato)

1. %



5 % Al (cassava)

5 » I & (green bean)

4 % 3ET (colocasia)

Question Number : 165 Question Id : 630680186855 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
In which method of pre-cooling is dry ice or liquid nitrogen used?

Options :

1 % Contact icing

5> « Cryogenic cooling

3. % Hydro cooling

4 % Vacuum cooling

Question Number : 165 Question Id : 630680186855 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ftaa (pre-cooling) F1 e f & o % a1 37 AR 1 I A S €2

Options :

|« FIFE FTFTHIT (Contact icing)



5  TwFaarr g (Cryogenic cooling)

5 » Steriiderd (Hydro cooling)

4« feEra g (Vacuum cooling)

Question Number : 166 Question Id : 630680186858 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Pre-cooling is practiced to remove:

Options :

1.« field heat

2. % chemical residue

3. % Wwater content

4. % dirt

Question Number : 166 Question Id : 630680186858 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

qaefideas (pre-cooling), F ga & faT sary g

Options:

| v B8 2T (field heat)



, » TEEAF AT (chemical residue)

3 % S (water content)

4 O (din)

Question Number : 167 Question Id : 630680186860 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a glasshouse, strawberry can be propagated by:

Options :

1 = cutting

2.« nner

3 % layering

4. % Crown

Question Number : 167 Question Id : 630680186860 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TATHEIH (glasshouse) H Tl & AW & (propagated) forar o FeraT &

Options :

| T (cutting)



5 L (runner)

5 % WIIET (layering)

4 % 13 (crown)

Question Number : 168 Question Id : 630680186874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which condition is one pair of chromosomes missing from the somatic chromosome complement?

Options :

1« Nullisomy

5 % Ietrasomy

3 % Monosomy

4 % Trisomy

Question Number : 168 Question Id : 630680186874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

frafefen & @ fow ffa & 1% one = @ e & & T7 T @ 82
Options :

| @ LeTHFAT (Nullisomy)



5 % T HIAAT (Tetrasomy)

3 % ThHIdT (Monosomy)

4 % egor FFar (Trisomy)

Question Number : 169 Question Id : 630680186889 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The cross between Fy hybrid and one of it parents is known as:
Options :

1 % single cross

> % population cross

3.« backcross

4 % top cross

Question Number : 169 Question Id : 630680186889 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fi EfE 3R 50 % & T U& & €19 & TH0T H FIT Hgl 1Tl 27

Options :

| » Tl WHLT (single cross)



, » THATE FHIUT (population cross)

TeF{-9a<T HRIUT (backcross)
3 o FHCTES TR

4« ¥ HEHIOT (top cross)

Question Number : 170 Question Id : 630680186906 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The first teak plantation in India with Taungya system was started in:
Options :

1« North Bengal

> % Rajasthan

3. % South Bihar

4. % Western Uttar Pradesh

Question Number : 170 Question Id : 630680186906 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

S 7 9 JUMe (Taungya System) & HTY FTEA &1 9 S0TA 7 4 faa 7 o

Options :

1. 3eal ST



2. % TSl

3. % araor faER

4 % GIEEAT 3eal qe

Question Number : 171 Question Id : 630680186914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a medicinal plant?

Options :

1. # Lavender

> % Ocimum sp.

3  Foxglove

4. % Davana

Question Number : 171 Question Id : 630680186914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
frfof@a # ¥ sia-a1 v el der 872

Options :

1 % oI9sT (Lavender)



, » HfFFEA TEA. (Ocimum sp.)

3 ¢ wiFgsag (Foxglove)

4 % Gaar (Davana)

Question Number : 172 Question Id : 630680186925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Pfeffer’s auxanometer is used for the measurement of:

Options :

1« blant growth
> w femperature of cooking jelly
3 % Dectin content of fruit extract

4 w tenderness of peas

Question Number : 172 Question Id : 630680186925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
B & HFIATHEL & 3TAET hdes A & fow fFar amar g2

Options :

| o S




- FfoheT ST @ ATTHA

3. % ol & I @ e FHEAT

4 % HE FHT FHIFAI

Question Number : 173 Question Id : 630680186951 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The Lucknow-49 cultivar of guava is developed by the breeding method of:

Options :

1.« selection

2. % mutation

3 % hybridisation

4. % introduction

Question Number : 173 Question Id : 630680186951 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3TRE F TEAF-49 Ffa 7 ew g voaa B g G s 2

Options :

1.« SUT



3_$3WUT

EESe sl

4, % 2

Question Number : 174 Question Id : 630680186960 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a symptom of incompatibility in grafting?

Options :

1 % Stunted growth of plant
5 w Excessive swelling at the graft union
3.« Acceleration of more vegetative growth

4. % Degeneration of tissues at the graft union

Question Number : 174 Question Id : 630680186960 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fafef@a # & Fia-91 FaA-09T (grafting) F 3T FT SAET0T 78T 22

Options:

L TR R



, T A W AOE FaE

5 » iU Fazafa gig & afd Tda

T el H Fashl 1 HIaHa

4, %

Question Number : 175 Question Id : 630680186962 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

White Friendship is a popular mutant variety of:

Options :

1+ gladiolus
> % marigold
3 % gerbera

4. % tuberose

Question Number : 175 Question Id : 630680186962 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
=T el #FT TFH FFOT FIRTAT A gl

Options:

1 v Toledrerd




Question Number : 176 Question Id : 630680186966 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The flower yield of gerbera under greenhouse conditions is:
Options :

1« 200-250 flowers/m/year

350-400 flowers/m/year

3 % 450-550 flowers/m/year

4. % 0600-700 flowers/m/year

Question Number : 176 Question Id : 630680186966 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fergrzd IREUTT & /ST F Tar F 397 g 2

Options :

| 200-250 Fe/m/ T4



, » 350-400 B /m/ W

, « 450-550 %eT /m/ T

, » 600-700 %e¥ /m/ T¢

Question Number : 177 Question Id : 630680186968 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The malformation of flowers in rose is commonly known as:
Options:

1 % balling
2 % blind shoots

3. % bent neck

4.+ bull head

Question Number : 177 Question Id : 630680186968 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

e H Gl I Fph T HHAAR W & T H FT AT g
Options :

TferRa= (balling)

1. %



- semss Je (blind shoots)

5 « Sihd %5 (bent neck)

po T 2T (bull head)

Question Number : 178 Question Id : 630680186970 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

For cut flower production in rose, in North India, pruning is done in the
Options :

1 % first week of September

2« first week of October
3. # Second week of November

4 % Second week of December

Question Number : 178 Question Id : 630680186970 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3R AT H T H & G F e F [T B (pruning) 7 fr o gl
Options :

1.



Question Number : 179 Question Id : 630680186975 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

For healthy lawns, which of the following is the best method of irrigation?
Options:

1 % Funnel system

5> % Drip method

3 % Flooding method

4+ Sprinkler system

Question Number : 179 Question Id : 630680186975 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
Ty i F e g & gew o ale e 2



Options :
1 % Welol TaTer

) % %8 S

3 % STecarae fafer

4. storr =B

Question Number : 180 Question Id : 630680186984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Poshita variety of ashwagandha is developed by:
Options :

1 % ICAR-NBPGR, New Delhi

5 % ICAR-IGFRI, Jhansi

3 % ICAR-IIHR, Bengaluru

4. v CSIR- CIMAP, Lucknow

Question Number : 180 Question Id : 630680186984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3regeTer Fr N Few FuF carr RFefaa g 22



Options :

. = ICAR-NBPGR, 7§ fgeeir

, % ICAR-IGFRI, ST
ICAR-IIHR, S=Tee

3. ® =

4 v CSIR- CIMAP, s@a5
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Question Number : 181 Question Id : 630680186812 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

As per APEDA (2021-22), India's share of fresh fruits and vegetables, in the global market is nearly

Options :

1.+ 1%



> % 10%

4 % 20%

Question Number : 181 Question Id : 630680186812 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

APEDA (2021-22) % Yo, 3feew o # e & 1 %o IR et 1 el e
gl

Options :

1.« 1%

5> % 10%

3 % 15%

4 % 20%

Question Number : 182 Question Id : 630680186818 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In polyvhouse, off-season cucurbits seedlings can be raised during:

Options :



1 % June and July

5 « December and January

3 % May and June

4 % Augustand September

Question Number : 182 Question Id : 630680186818 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TeEEd A, AT 7T & g (seedlings) F % W fE B 1w £

Options:

1.

2 mmm

7$ AR o

3, #

4, # e AR faass

Question Number : 183 Question Id : 630680186819 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which flower crop is commercially NOT suitable for polyhouse production?

Options :



1. % Cutrose

2 % Gerbera

3. French marigold

4. % Carnation

Question Number : 183 Question Id : 630680186819 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TR § 37 8 9 5w (flower crop) TEHRF T H g 3 (polyhouse production) F
fore v gt Ak ¢

Options :
| » % U (Cut rose)
, % S (Gerbera)

3 %her a7 (French marigold)

4 % FTA2lA (Carnation)

Question Number : 184 Question Id : 630680186823 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Chemically, hydrated magnesium-aluminium-iron silicate is:



Options :

1. % COCO-COIr

5 w perlite

3 % Deat

4. « vermiculite

Question Number : 184 Question Id : 630680186823 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TR 7 8, g53e8 Hiaa-TegA = aa-aig fferre e

Options :

| % SIPI-FHAT (coco-coir)

> % gqeirse (perlite)

3. % 9 (peat)

4 affegeTEe (vermiculite)

Question Number : 185 Question Id : 630680186824 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which type of micro-irrigation system is most commonly adopted in India?

Options :
1. % DBubbler
5« Surface drip

3. % Micro sprinkler

4 % Subsurface drip

Question Number : 185 Question Id : 630680186824 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TR # fFe TR & ew g a9 & 58 30% s S 82

Options :

1 % "o (Bubbler)

, » THH 3T (Surface drip)

5 » HTEH [EFFeR (Micro sprinkler)

4 » FEEHH 39 (Subsurface drip)

Question Number : 186 Question Id : 630680186840 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



The seed rate of Cynodon dactylon grass is:
Options :

1. % 5-10 kg/hectare

> % 15-20 g/hectare

3« 25-30kg/hectare

35 - 40 kg/hectare

Question Number : 186 Question Id : 630680186840 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

WEAEe SfFeare (Cynodon dactylon) =8 #r &1 2T (seed rate) g 8l

Options:

1 % 9-10 kg/hectare

> = 15-20 g/hectare

3 25-30 kg’hectare

4 = 39-40 kg/hectare

Question Number : 187 Question Id : 630680186841 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



The serious insects/pests of lawns are:
Options :

1 « Aants, termites and root grubs

5> % shoot borers, jassids and leaf rollers

3 » mealy bugs, scales and root grubs

4. % red spider mites, sawflies and ants

Question Number : 187 Question Id : 630680186841 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T & THT Fre/dss, 2 g

Options :
| » diEr, & HR v 79

, % W Fu, AT 3R 90T 9w

5 % HAN T, Th 3N w€ T

4w OTS TAISST ATSS, Wickols AT =er

Question Number : 188 Question Id : 630680186846 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a principle of flower arrangement?
Options :

1 % Harmony

2. % Formal balance

3 % Space

4.+ Fixture

Question Number : 188 Question Id : 630680186846 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

farafofea & & #la @1 77 =@ (flower arrangement) &1 @ w8t 87

Options :

| « @A (Harmony)

> % WA Jo98 (Formal balance)

5 % T (Space)

4V feaT (Fixture)

Question Number : 189 Question Id : 630680186863 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which vegetable crop is suitable for low tunnel cultivation?
Options :

1 « Long melon

2. % Tomato

3 » Capsicum

4 % Chilli

Question Number : 189 Question Id : 630680186863 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
o ol el (low tunnel cultivation) % faT #ter & Festh & G (vegetable crop) T Al 82

Options :

| @ (Long melon)

5 % AT (Tomato)

5 « e fA= (Capsicum)

fA=r (Chilli)

4. %

Question Number : 190 Question Id : 630680186898 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



The scientific name of paddy straw mushroom is:
Options :

1 = Agaricus bisporus

2. % Lentinula edodes

3.« Volvariella volvacea

4. % Pleurotus florida

Question Number : 190 Question Id : 630680186898 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
331 TT AAFH (paddy straw mushroom) &1 FHTTHe ATH 4T 22

Options:

| » IHHE fEEIRE (Agaricus bisporus)

- wfeeeT TSISH (Lentinula edodes)

3 FeaATTeT Seafaar (Volvariella volvacea)

4w TeRICH FAET (Pleurotus florida)

Question Number : 191 Question Id : 630680186900 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



454 g of fresh mushrooms provide approximately

Options :

1. % 60 K-calories

2.« 120 K-calories

3 % 180 K-calories

4. % 240 K-calories

Question Number : 191 Question Id : 630680186900 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

454 g ATAT AAFH T 9T LT g
Options:

1 % 60 K-Shalrdr

5> « 120 K-sHeardr

3 % 180 K-hairdr

4 % 240 K-heirdy

Question Number : 192 Question Id : 630680186910 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In which method of direct gene transfer is -2 um tungsten or gold particles coated with the DNA used?
Options :

1 % Electroporation

> % Microinjection

3.« Biolistic

4 % Lipofection

Question Number : 192 Question Id : 630680186910 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

08 e TR0 3w B & DNA & R 12 pm TR T =0 F0 7 F9T B e
1

Options :
1. % gelderaera (Electroporation)
, « HEHESFIS (Microinjection)

5 » SACIEEH (Biolistic)

4 « forareeRE (Lipofection)

Question Number : 193 Question Id : 630680186924 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Diara cultivation is commercially associated with:
Options :

1 = medicinal crops

5> % fruit crops

3 % flower crops

4. Vvegetable crops

Question Number : 193 Question Id : 630680186924 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fear (Diara) @ sawafas & @ fFaw gafag &2

Options :

1. % el wEe

5> % el H HFe

44'\'4%1&1#@?

Question Number : 194 Question Id : 630680186927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Brassinosteroids are the extract of pollen grains of:

Options :

1 % Dpotato plant

5 % Tadish plant

3« rape plant

4 % onion plant

Question Number : 194 Question Id : 630680186927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

4f8=TEeTss (Brassinosteroids) f&@es RIETHUT FT 37 21T g2

Options :

3T T Tie

1. %

5 i T T T

5 » G (rape) T der

4 % TUTS T Gier

Question Number : 195 Question Id : 630680186940 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Methley, Kelsey and Mariposa are popular varieties of:

Options :

1 = beach

5 % pear

3 % Dphalsa

4.+ Plum

Question Number : 195 Question Id : 630680186940 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Ao, Fed AT AN (Methley, Kelsey HT Mariposa) $ Ay e )
Options :

HIS

1.% TR

5> % SATYrETT

3. % IeTHEl

Question Number : 196 Question Id : 630680186945 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

In which part of India should the survey for germplasm collection of Zizyphus vulgaris be done?

Options :

1. % Central and Eastern India

2. % Peninsular India

3  North Western Himalaya

4. % Deccan Plateau

Question Number : 196 Question Id : 630680186945 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ffoma 3ME (Zizyphus vulgaris) % &1 227 (germplasm) T & T oa & W o7 & e
forar e wfge?

Options :

AT 3R @ oA

1. %

5 % QAT dRd

3 v SccR-TR=HAT fgATeT

4 % G & TSR

Question Number : 197 Question Id : 630680186954 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The stage in the development of fruits showing maximum growth and maturation is known as;
Options :

1 % commercial maturity

5> % horti-physiological maturity

3 % horticultural maturity

4.+ Physiological maturity

Question Number : 197 Question Id : 630680186954 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

ol & fog 37 e T I 4, o dfwaw 3fy sk g fwd g

Options :

| % CHGHETA® TRYFadl

5> % STETETAT-SITAe TRITFaTdr

3 % SEEET 9REEEar

4_¢ﬂﬁmﬁmﬁ

Question Number : 198 Question Id : 630680186971 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Geotropic bending is associated with:
Options :
1 % marigold

5> « gladiolus

3 % Jasmine

4. % China aster

Question Number : 198 Question Id : 630680186971 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Tecaadt g@el (Geotropic bending) BFad FafaT 22

Options :
1 = T
> ToISarerd

L =E

4w STEAT TEX

Question Number : 199 Question Id : 630680186972 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
‘Pankhuri’ is prepared by:

Options :

1 % Jasmine

2 % tuberose

3.« damask rose

4 w marigold

Question Number : 199 Question Id : 630680186972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

T’ BT ganr I @ S 87

Options :

1. % THT

2. % I3 AraTeT

3 Sl lal ‘-"';I‘c*llﬂ'

4 % T

Question Number : 200 Question Id : 630680186979 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

‘Baraja’ is a structure that is used for growing:
Options :

1 % black pepper

2 % betel nut

3.« betel vine

4. % small cardamom

Question Number : 200 Question Id : 630680186979 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
' (Baraja)' T TIEAT §, TEH 39T F T F v G T g

Options :

1. % e A=

qarer

2. % =

3_¢q1?-r£r&‘|?~r

4_%5@&3313?&
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Examiner permission : Cant View
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Question Number : 201 Question Id : 630680186825 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which type of irrigation system is extensively used in landscape gardening?

Options :
1 % Flood irrigation
5> % Micro-sprinkler irrigation

3  Bubbler irrigation

4w Drip irrigation

Question Number : 201 Question Id : 630680186825 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TN (landscape gardening) ® fE SR & TS o 1 e ¥ § 39T fRA S 82



Options :

1 % 96 f&=me (Flood irrigation)
, « AEHE-EFa fHATS (Micro-sprinkler irrigation)
5 » So F=TS (Bubbler irrigation)

4% sg-9g f&=ms (Drip irrigation)

Question Number : 202 Question Id : 630680186830 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Income of farmers can be enhanced by:
Options :

1 % decreasing the gross income

> w increasing the cost of crop raising

3. % Increasing the capital

4« Increasing the gross income

Question Number : 202 Question Id : 630680186830 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



foramar i 3w 7 P9 wR 3fE g w87

Options :

1 = THST AT H FAT FF

,  BHS I H AT H R A

- = 7 gfE =3

4 TS HT A E FH

Question Number : 203 Question Id : 630680186831 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

City Parks reflect the beauty and of the city.
Options :

1. = pride

2. % nature

3 o lifestyle

4. % cleanliness

Question Number : 203 Question Id : 630680186831 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
f&ér 9 2T @ gexar AR Fr T ¥

Options :

1_w?ﬁ:l_¢r

. % I
3_¢Gﬂ3?l'fﬂ?fﬂ'

4 % FH=SA

Question Number : 204 Question Id : 630680186839 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a good characteristic of grass?
Options :

1. % Soft to touch

> % Quick growing

3. # Cold resistant

4. Emitting foul odour

Question Number : 204 Question Id : 630680186839 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
fo@a & ¥ ST @ ag & 3=5r Fvar 71 872

Options :

. T H FTH (Soft to touch)

1. % =&
, » o & (Quick growing)
5 % o FRrer (Cold resistant)

L gerer &7 (Emitting foul odour)

Question Number : 205 Question Id : 630680186847 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In flower arrangements, predominant warm colour like vellow and red is related to:
Options :

1 % afeeling of excitement

5  afeeling of fire and sun

3. % dignity and royalty

4 w feeling of sorriness and illness

Question Number : 205 Question Id : 630680186847 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T famara (flower arrangement) &, drer 3t 7197 o g T T (warm colowr) ¥ TG
@ 2l
Options :

1. % ScaaTdAT I HTSAT

, o HET AR FF Hr s

3 ® AT HT Taeer

4. % Frar 3T e fr saraar

Question Number : 206 Question Id : 630680186848 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which type of flower arrangement are wood, stone, rocks and metal materials used?

Options :
1.« Zeneibana
2. % Moribana

3 % Nageire

4. # Rikka



Question Number : 206 Question Id : 630680186848 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fre v & 0 fmams & wd), TR, TE AR org W A sea R S 2

Options :

|  FAEET (Zeneibana)

5 % FIEET (Moribana)

5 % dIL (Nageire)

4 » @ (Rikka)

Question Number : 207 Question Id : 630680186856 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Waxing of fruits increase its storage life by:

Options :

1 % reducing transpiration and increasing respiration
> % Teducing respiration and increasing transpiration

3.« reducing both transpiration and respiration

4 % increasing both transpiration and respiration



Question Number : 207 Question Id : 630680186856 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
el dr 3R (Waxing of frits) e Yo 509 e Saasa (storage life) # g #T 87

Options :

| w TEICHSE H FA FE R TEA # Y w

, A F FA = HR aOicmed # g w1

5 v TICHESA 3R FEA, A H HAT Fh

, » TTESE AR oFEa, g & IfF FF

Question Number : 208 Question Id : 630680186868 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Orchid is propagated by:

Options :
1.« seeds
2. % bulbs

3. % corms

4 % slips



Question Number : 208 Question Id : 630680186868 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
31fFE (Orchid), ZaRT JataT (propagated) AT §1

Options :

| o SIS (seeds)

5 w ¥ewFar (bulbs)

3 % TeThal (corms)

4 % TEST (slips)

Question Number : 209 Question Id : 630680186888 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Crinkling or curling of leaves in chillies is caused by:
Options :

1 = mealy bug

> % White fly

3. # leaf miner

4. thrips



Question Number : 209 Question Id : 630680186888 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Options :

- IS e (mealy bug)

, » 23 FFEr (white fly)

_- quT & (leaf miner)

4 » T HIE (thrips)

Question Number : 210 Question Id : 630680186895 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Dioecy is observed in:
Options :

1 « bapaya

5 % mango

3. % banana

4. % coconut



Question Number : 210 Question Id : 630680186895 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
sTIrET (Dioecy) T 9Tar ST gl

Options :

1« 99T

Question Number : 211 Question Id : 630680186912 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Growing of shoot tips in vifro to obtain completely to develop of plantlets is called:

Options :
1. % another culture
2.« meristem culture

3 # organ culture

4. % callus culture



Question Number : 211 Question Id : 630680186912 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Tew (plantlets) F T ¢ ¥ Rl w1 & T, T & FT & AT qG F FEAT ¢

Options :

1 % 3T IO

2 a=aas gada

3 % 3 FIES

4. % Herg FaUA

Question Number : 212 Question Id : 630680186919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The seed rate of onion for transplanting of 1 hectare area is:
Options :

1 = 12.0-14.0kg

4.0-50kg

2. #®

5 » 8.0-100kg

4 % 150-17.0kg



Question Number : 212 Question Id : 630680186919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

1 T &7 &7 A9 F Bw s fr 7 g g

Options :

| % 12.0 - 14.0 kg

, « 4.0 - 5.0 kg

. 8.0-10.0 kg

4 » 15.0 - 17.0 kg

Question Number : 213 Question Id : 630680186921 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Steckling is related to seed production in:

Options :

1. % cucumber

> % garlic

3. % onion

4.« radish



Question Number : 213 Question Id : 630680186921 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FFRferaT (Steckling) H I 38T ¥ gaEfoa g

Options :

Question Number : 214 Question Id : 630680186932 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Zero energy cool chamber was developed at:

Options:

1 % ICAR-CIPHET, Ludhiana

5 « ICAR-IARI, New Delhi

3 % CFTRI, Mysuru

4 % ICAR-IIHR. Bengaluru



Question Number : 214 Question Id : 630680186932 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

o Far off T et 7 faa fFar mar
Options :

.« |CAR-CIPHET, gftraman

, « ICAR-IARI, 75 fewar

.« CFTRI, &3

ICAR-IIHR, &9TeT
W i

Question Number : 215 Question Id : 630680186934 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following insects is used for the bio-control of Parthenium hysterophorus weed?

Options :

1. % Cactoblastis cactorum

5>  Zygogramma bicolorata

3. % Paulina acuminate

4. % Neochentia eichnorniae



Question Number : 215 Question Id : 630680186934 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

farfaft & & f&g i &1 390, mifs federe wrweer & o fawww & fw i o

g

Options:

1 % FFleAEed $FFeH (Cactoblastis cactorum)

5SS SEHARIET (Zygogramma bicolorata)

- SifereT THgfEse (Paulina acuminate)

4 % AT SRR (Neochentia eichnorniae)

Question Number : 216 Question Id : 630680186938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Under greenhouse conditions, tomato crop can grow up to:
Options :

1. % 4 —6 months

2.« 9— 10 months

3 % 15— 18 months

4. % 13— 14 months



Question Number : 216 Question Id : 630680186938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
g w TREaa &, e et & v d% §¢ THdT 2|

Options :

, v 9-10 T

5« 15 - 18 =@=

4 % 13 - 14 7=

Question Number : 217 Question Id : 630680186943 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Aonla is commercially propagated by:
Options :

1 % layering method
> % T budding method

3. « Datch budding method

4 w hard wood stem cutting



Question Number : 217 Question Id : 630680186943 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

HTGoT FT TS FTa g e S

Options:

| SR R

> % T- Sfoepras fafer
3 v U= Fioema Bfe

. gIegs TEH Hiedl

Question Number : 218 Question Id : 630680186955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The fruit growth pattern in citrus is:
Options:

1« simple sigmoid curve

> w double sigmoid curve

3 % ftriple sigmoid curve

4 w fourth sigmoid curve



Question Number : 218 Question Id : 630680186955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
focw & & 3T 9= T FaT B2

Options :

1 v TAEET f&EaEeT a%

5 » BT TTATT T

3 % & -y 5=

agrs& ATy %

4, ®

Question Number : 219 Question Id : 630680186959 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The pH of sphagnum moss is about:

Options :

1 % 2.0-25



Question Number : 219 Question Id : 630680186959 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

THIAH ATH (sphagnum moss) T pH eTerT g &
Options :

% 20-25

5 v 35-4.0

. % 50-55

4 % 65-7.0

Question Number : 220 Question Id : 630680186980 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

*Suruchi’ is a variety of ginger that is released from:
Options :

1« OUAT, Bhubaneshwar

5 % ICAR-IISR, Calicut

3 % ICAR-CPCRI Shimla

4 % YSPUHF, Solan



Question Number : 220 Question Id : 630680186980 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
g eTw H T w7, B AT O T e g

Options :

| OUAT, sasieat

, « ICAR-ISR, Feiee

5 » ICAR-CPCRI, frsren

4 = YSPUHF, @rera
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Question Number : 221 Question Id : 630680186815 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to FAO (2020), India is the largest producer of:
Options :

1 % Dbay leaf

2 % cumin

3  ginger

4. % coriander

Question Number : 221 Question Id : 630680186815 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
FAO (2020) & 3@, #X4 T Y F37 3cICH ¢

Options :

1 % d= Iear (bay leaf)

, % ST (cumin)

3  3CIF (ginger)

4 % YA (coriander)



Question Number : 222 Question Id : 630680186816 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

As per APEDA (2020-21), which state ranked first in onion production during the year 2020-217
Options :
1. % Bihar

2« Maharashtra

3 % Rajasthan

4 % Telangana

Question Number : 222 Question Id : 630680186816 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
APEDA (2020-21) & 38R, 3¥ 2020-21 % N7 “1eT 3c1et # fob 1o 7 gl T4 912

Options :

| % @R

5 HeIeg

3. % AFATA

4.a.s?|?*i7ﬂ?ﬂ'



Question Number : 223 Question Id : 630680186821 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Glazing material in polyhouse construction refers to:
Options :

1« covering material

> % growing media

3 % lrigation material

4 % matting material

Question Number : 223 Question Id : 630680186821 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TreeTs AT F Toie @A (Glazing material) P el w8l

Options :
1@ FIIET AT (covering material)
, « @rgeT ATFAT (growing media)

5« THETS WHEEA (irrigation material)

4w HIEIT FWHA (matting material)



Question Number : 224 Question Id : 630680186843 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The removal of cut over grasses from lawns is termed as:
Options :

1 % raking
2 % mowing
3. % scraping

4. v SWeeping

Question Number : 224 Question Id : 630680186843 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
qT T F §é‘ T (cut over grasses) FI g2l FF FET ST 2

Options :

1 % e (raking)
, w W& (mowing)

5 » TR (scraping)

4 v T (sweeping)



Question Number : 225 Question Id : 630680186859 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The principal hazards in transport systems is due to:
Options :

1 % high temperature

2 « vibration

3. % high humidity

4 % lowoxygen

Question Number : 225 Question Id : 630680186859 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
gredte fFeH (transport system) # ¥ Fae & FNT T 2

Options :

1. % 3=d d9HAA

3 % 3T ATEAT

4 % @FT ST



Question Number : 226 Question Id : 630680186861 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In protected greenhouse conditions, grape can be propagated by:
Options :

1 % budding
5> % cleft grafting
3 % epicotyl wood grafting

4 €Ves cutting

Question Number : 226 Question Id : 630680186861 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
s FT3w (protected greenhouse) et & SR A yw _ ZawW R o W 4
Options :
Hboldd (budding)

1. % 22

, « FATE I (cleft grafting)
- TRiRIerser 95 U (epicotyl wood grafting)

4 v BT HET (eyes cutting)



Question Number : 227 Question Id : 630680186862 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which type of varieties are suitable under protected cultivation of cucumber?
Options :

1 % Hermaphrodite

5 « Parthenocarpic

3. % Monoecious

4. % Andromonoecious

Question Number : 227 Question Id : 630680186862 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
BN (cucumber) #1 TRIET BT (protected cultivation) % T e e #r fovest 3w &l &2

Options :

| « 3s7afeRM (Hermaphrodite)

, » HEYFH (Parthenocarpic)

5« SHITETHAT (Monoecious)

4w sfF=TIageE (Andromonoecious)



Question Number : 228 Question Id : 630680186871 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The fruit growth pattern in guava is;
Options :

1 % simple sigmoid curve

5> % single sigmoid curve

3. « double sigmoid curve

4 % triple sigmoid curve

Question Number : 228 Question Id : 630680186871 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
HAFE H Tl Jig e (fruit growth pattern) g g

Options :
|« T% T@FATE T (simple sigmoid curve)
, » THo-TETATH FF (single sigmoid curve)

3. ¢ gfa-f&7arsT 3% (double sigmoid curve)

4« T-FEFATE I (triple sigmoid curve)



Question Number : 229 Question Id : 630680186884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of following moulds mostly caused the spoilage of canned fruits?
Options :

1 % Penicillium sp.

> % Aspergillus sp.

3 % Mucor sp.

4. Byssochlamys fulva

Question Number : 229 Question Id : 630680186884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
frfafea & ¥ Fla-8r Fxar 3w Beame Far # W Fr 872

Options :
|« ff@e@d TaEdn. (Penicillium sp.)

, » TEIREEE THAL. (Aspergillus sp.)

3 % FLHN THUT. (Mucor sp.)

4. aﬁﬁaﬁﬁﬂ'ﬂ EEEL (Byssochlamys fulva)



Question Number : 230 Question Id : 630680186885 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Asepsis means
Options :

1 % chemical killing of microbes
> % physical killing of microbes
3.  Dreventing entry of microbes

4 w Kkilling microbes by irradiation

Question Number : 230 Question Id : 630680186885 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

3-1'@? (Asepsis) FT 379 FIT &2

Options :

TMUTHT T TS A
1. % )

- Temupet @ sifae @
3.Jmﬁ$mraﬂﬂm

. fafeor gamr Qemopst @ gEe



Question Number : 231 Question Id : 630680186904 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a nitrogen fixing tree species?

Options:

1. % Acacia catechu

5>  Eucalyptus tereticornis
3 % Cassia siamea

4. % Saraca indica

Question Number : 231 Question Id : 630680186904 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT 7 ¥ Fia-01 T AEgad TUIe0T g87 IS el 27

Options :

- HHRTHAT FT (Acacia catechu)

, o TohfereH RTEHITAT (Eucalyptus tereticornis)

5« Sraar AT (Cassia siamea)

4 » WIS $BT (Saraca indica)



Question Number : 232 Question Id : 630680186918 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Gold fleck, whiptail and akashin, respectively, are the physiological disorders of:
Options:

1 % chilli, broccoli/cauliflower and pea

5 « tomato, broccoli/cauliflower and radish

3 % Dbroccoli/cauliflower, brinjal and onion

4 % Sweet potato, broccoli and knolkhol

Question Number : 232 Question Id : 630680186918 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
78 Felsk (Gold fleck), Eaaee 3T arfiw Faer: fws wfidm fer §2

Options :

- forr, St gerEns v Fex
, o THIE, Shrel/GeEst AT e
L w SeRel/QeEitsl, S AR I

4 % TG, Feple AR Ao



Question Number : 233 Question Id : 630680186926 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Gibberellin is effective in breaking the dormancy in:
Options:

1« Dotato tubers

2. % radish

3 % onion

garlic

Question Number : 233 Question Id : 630680186926 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

eI (Gibberellin) # 9gfta & disa 7 g g

Options :

1.9 1<



Question Number : 234 Question Id : 630680186931 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The harvesting of vegetables for selling in distant markets should be done during:

Options:

1. % noon time

5 % late morning time
3 % hight time

4. late evening time

Question Number : 234 Question Id : 630680186931 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
gegadt a=Rt H a9 & forv afesat #r g w1 A afge?

Options :

| % SI9E F WAT

- X GIE F wAT

3 % Ud & A

4 v SX ATH & AT



Question Number : 235 Question Id : 630680186941 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following varieties of pear is considered as the best polliniser for William and Bartlett varieties?

Options:

1. % California Advance

2.« Conference

3. % Manchurian

4. ® Non-Pareil

Question Number : 235 Question Id : 630680186941 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A & e e # ¥ #-a, ffvew 3R aee e § v aew 3ee W e
T &7

Options:

| % HodIAAT TSATH (California Advance)

. FhA (Conference)

FIRTA (Manchurian)

3. %

4 % e d3rer (Non-Pareil)



Question Number : 236 Question Id : 630680186948 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In which variety of mango is the dehorning technique used at GBPUAT, Pantnagar?

Options :

1.« Dashehari

5 % langar

3. # Chausa

4w Kiishnabhog

Question Number : 236 Question Id : 630680186948 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Hdawet (GBPUAT), SoeR # 31 &1 fvw e o faspfiemor ity a7 3t v e 7

Options :
1 v =BT

3_u5ﬁ7\q'|'



Question Number : 237 Question Id : 630680186952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following treatments in fruits use Cobalt-607?
Options :

1 % Vapour heat treatment

> % Fumigation freatment

3 w Curing

4. + lrradiation

Question Number : 237 Question Id : 630680186952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Tl § elof@g # @ g 3R & FEee-60 # 39T & A 27

Options :

1 % ST AT 3TEAR

'E;!\Hrl a4



Question Number : 238 Question Id : 630680186967 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Flower colour of the marigold variety Arka Bangara is:

Options :

1. % dark red

5 x orange

3 ¢ vellow gold

4. % white

Question Number : 238 Question Id : 630680186967 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

g & T 3T FIRT &% Far @ T 2T gl

Options :

2. % @ el



Question Number : 239 Question Id : 630680186985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Aloe is commercially propagated by:

Options :

1. % seeds

2 % bulbs

3.« offshoots/suckers

4 w leafcuttings

Question Number : 239 Question Id : 630680186985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3T (Aloe) FT UEEE ®F & FauT ganT far = B

Options :
1 % dr=

5 % ATEhEET

3 v TRTETH/EN @ AT ST

4 % Tl & Tl



Question Number : 240 Question Id : 630680186988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The oil obtained from Cymbopogon martinii var. Sofia is known as:

Options :

1. % roseoil

2. % mint oil

3  ginger oil

4. % cochin oil

Question Number : 240 Question Id : 630680186988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e afes aw @ftsar (Cymbopogon martinii var. Sofia) & 9 o e
T el 2

Options :
| TS & o

, o

3 v HEIH & ad



4 % HIET & der

Is this Group for Examiner? : No

Examiner permission : Cant View
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Clear Response: Yes
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Is Section Default?: null

Question Number : 241 Question Id : 630680186814 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Currently, in India, more than 50% of the floriculture products are produced by the states of:
Options:

1 « Karnataka, Andhra Pradesh, Tamil Nadu and Madhya Pradesh

5> w Uttar Pradesh, Madhya Pradesh, Tamil Nadu and Bihar

3 » Karnataka, Bihar, Gujrat and Tamil Nadu

4 % Andhra Pradesh, Uttar Pradesh, Rajasthan and Tamil Nadu



Question Number : 241 Question Id : 630680186814 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A §, 9 A T2 Za 50% 3R T F (floriculture) 3eTE! &1 3w el ¢

Options :

1'¢m,mmr,aﬁﬂ?§3ﬁ?mmr

3eal Y&, AL W&, AfHes AR RER

2. #

e, FRER, ToRa IR afFearg

3T FE, Jeal Fou, Toied 3R affe=s

4. %

Question Number : 242 Question Id : 630680186822 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following containers is NOT suitable for good root penetration?
Options :

1 % Strip peat pot

2 % Soil band

3.« Fibre block

4 % Single peat



Question Number : 242 Question Id : 630680186822 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

ferafefa # & #l7 @ Feer 34T 53 U (root penetration) & v 3uge 7 2 27
Options :
| « &g die 97 (Strip peat pot)

, « ®isa 45 (Soil band)

3w B3 =ofleh (Fibre block)

4w T8 91T (Single peat)

Question Number : 243 Question Id : 630680186833 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an important feature in educational institute landscaping?
Options :

1 « Botanical garden

5> % Sunken garden

3 % Public garden

4 % Miniature garden



Question Number : 243 Question Id : 630680186833 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Mer FrUe e (educational institute landscaping) #, ffefm # ¥ #la & v
ARy AV g £

Options:

1« A% 3¢ (Botanical garden)

5 % SeHIA 3= (Sunken garden)

3 % Te=iae 36 (Public garden)

4% oe 3T (Miniature garden)

Question Number : 244 Question Id : 630680186834 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The primary function of a traffic island is:
Options :

1 = beauty

5 o safety

3 % maintaining traffic

4 w glving direction



Question Number : 244 Question Id : 630680186834 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
e &7 (traffic island) &7 Wa™@es F& gl

Options :

3 % AT SUATEAT FATT IGAT

4 %[GR 9ET LT

Question Number : 245 Question Id : 630680186876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The two different alleles of the same gene present in an individual are known as alleles.

Options :

1 % homozygous

5> « heterozygous

3 % homoduplex

4 % heteroduplex



Question Number : 245 Question Id : 630680186876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

fodt cufee & Alg @& & I & & o T @ Trrfee! & T H e
ST ¢

Options :

HAGIAS (homozygous)

1. %

fawFgam= (heterozygous)

2. %

3 % m'e;-‘u%r (homoduplex)

4 » [99HCAY (heteroduplex)

Question Number : 246 Question Id : 630680186882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are NOT a pigment?
Options :
1 % Anthocyanins

2 o Myrlcetin

3 % DBetacyanins



4. % Lutein

Question Number : 246 Question Id : 630680186882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fa=faf@a & @ Fi9-ar v auv= (pigment) FET 272

Options:

| » UEETfEA (Anthocyanins)

, » FEReRieA (Myricetin)

5 % SEEEAS (Betacyanins)

4w *gies (Lutein)

Question Number : 247 Question Id : 630680186891 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Male and female reproductive organs of a hermaphrodite flower maturing at different times is termed as:
Options :
1 % dicliny

5 « dichogamy

3 % monoecy



4 % brotogyny

Question Number : 247 Question Id : 630680186891 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I!E'a'ﬂ'qﬁ?ﬁgrwa?mﬁﬂmmﬁm, T HEET-HT FRY W U9 A §,
A ¢
Options:

| w BT (dicliny)

5 el Ja=ar (dichogamy)
5 % HAAEN (monoecy)

4% T T (protogyny)

Question Number : 248 Question Id : 630680186892 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Removal of the terminal portion of shoot leaving basal portion intact is called:
Options :
1 % thinning

> % girdling

3 heading back



4 % Dhotching

Question Number : 248 Question Id : 630680186892 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
mﬂmaﬂwwﬁr?m#mmaﬁrwm FIT FZTdT 872

Options :
| » @%@ (thinning)

5> % derde (girdling)

3 9EFT HaOT (heading back)

4 % T (notching)

Question Number : 249 Question Id : 630680186894 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The transferring of young seedling from one bed to other bed or tray is termed as:
Options:
1 % hardening

> w bricking

3. « bricking



4 % Wwintering

Question Number : 249 Question Id : 630680186894 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

7% 9 F TF FRT F gEY FRT A § H TWAANT A P F FE A 87

Options :

| « @A (hardening)

, « T8fEeT (bricking)

5 » T (pricking)

4 % [EERET (wintering)

Question Number : 250 Question Id : 630680186896 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The ‘Bombay Green’ variety of banana is developed through bud selection from:

Options :

1.+ Dwart Cavendish

2. % Kadali



3. % Kunnan

4. % DBontha

Question Number : 250 Question Id : 630680186896 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fo T A e ¥ Tl 709 % AeAw ¥ Fetad & S g

Options :

|« 3aT% 3af3er (Dwarf Cavendish)

, « e (Kadali)

- Feotel (Kunnan)

4 » =T (Bontha)

Question Number : 251 Question Id : 630680186911 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The transgenic variety of squash *‘Freedom’ is developed by:

Options :

1« Seminis Vegetable Seed

> % Bejo Zaden



3. % Novartis

4. % Aventis

Question Number : 251 Question Id : 630680186911 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T F RS (THAAF) REH WEE e @R Twaa & T 32

Options :

| » BAAHE aF @7 (Seminis Vegetable Seed)

, % S e (Bejo Zaden)

5« #ared (Novartis)

4 » TATEHE (Aventis)

Question Number : 252 Question Id : 630680186913 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are NOT a secondary metabolite?

Options :

1. # Alkaloids

> % Glycoside



3.« Starch

4. % Steroids

Question Number : 252 Question Id : 630680186913 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
e & ¥ sila-gva fadws suv=sas F8r 287

Options :

| « Towarcs (Alkaloids)

, » Jomgrass (Glycoside)

5 » T (Starch)

4 » TUTT (Steroids)

Question Number : 253 Question Id : 630680186935 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The highest content of NPK is present in which organic manure?
Options :

1 % Farm yard manure

5>  Poultry manure



3 % Town compost

4 % NADEP compost

Question Number : 253 Question Id : 630680186935 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TSR (NPK) & 3=9aa am 6w sfes @ § #ieg g 82

Options :

1 % TMET TG

5 v T TE

3 % CI3dA HFEAIES

4 » TACERTT (NADEP) TTE

Question Number : 254 Question Id : 630680186942 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the suitable rootstock of cherry?

Options :

1.« Mazzard

> % Ruggeri



3 % Oblong

4. % Manilkara hexandra

Question Number : 254 Question Id : 630680186942 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

i@ & & sia-ar 28 1 s9gFa 9 (rootstock) 272

Options :

1. ¢ goerrs (Mazzard)
2. % TR (Ruggeri)
3. % 3ifeair=1 (Oblong)

4. * ARt gader (Manilkara hexandra)

Question Number : 255 Question Id : 630680186953 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following post-harvest quarantine treatments is applied in mango?
Options :

1 % Pulsing treatment

5> Vapour heat treatment

3 % Pre-cooling

4 % Coating



Question Number : 255 Question Id : 630680186953 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
farafofta # & la-ar Fes 39T TR 3= 3H & o] e g2

Options :

1. % '{-"-Id‘crl 244

2 & dI°q dq 3991

EERIGEG]

3. ® &

4_%%@?{

Question Number : 256 Question Id : 630680186958 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which in virro method is commonly used to propagate fruit crop?
Options :

1« Micro-propagation

2. % Marker assisted selection

3 » Haploid production

4 % Gene editing



Question Number : 256 Question Id : 630680186958 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
Hel B GE & 9 & o FAAN W w7 (g9 R &7 3wme G o 2

Options :

HeAYTYT

1.9 '~

5 % HY HgHe I
3. # NEEERI

4 % S TIESA

Question Number : 257 Question Id : 630680186977 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The cauliflorous bearing habit is observed in:

Options :

1. % coffee

2.« €Ocoa

3 % Ppalmyrah



4. % cashew nut

Question Number : 257 Question Id : 630680186977 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TSI GRUT Fqfed (cauliflorous bearing habit) @ S 2

Options :

1. % SHIHI

5 HIH

Question Number : 258 Question Id : 630680186983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which part of sarpagandha is commercially important?
Options :
1. ® Flower

2 % Leaf

3.« Root



4. % Seed

Question Number : 258 Question Id : 630680186983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

HYereT (sarpagandha) T HIS-HT ST SEEIIE e § Fgeaqol aldm 87

Options :

Question Number : 259 Question Id : 630680186987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Kiran and Gomati are the varieties of:

Options :

1« Bergamot mint

5> % Spearmint

3 % Japanese mint



4 % Peppermint

Question Number : 259 Question Id : 630680186987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T 3T oA, &r e 2

Options :

LJEI?SI?:ﬂEET:'ﬂ?IT

z_ﬁqﬁ@gﬁm

Question Number : 260 Question Id : 630680186989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Neera or Padaneer is a transparent produce from palmyrah, which contains about
Options :
1 % 3% — 6%o sugar

2 12% — 16%0 sugar

3 % 20% — 30% sugar



4. % 35% — 40% sugar

Question Number : 260 Question Id : 630680186989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT I TN, TANT (palmyrah) T TF IR 39 &, foree e 2T 2

Options :

1 % 3% - 6% T

5> v 12% - 16% T

3 % 20% - 30% T

4 % 35% - 40% R

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
Discipline9
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Clear Response:

Maximum Instruction Time : 0



Is Section Default? : null

Question Number : 261 Question Id : 630680186820 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tvpes of greenhouse is NOT classified on the basis of shape?

Options :

1 % Quonset greenhouse

> « Plastic film greenhouse

3 » Ridge and furrow type greenhouse

4 % Saw tooth type greenhouse

Question Number : 261 Question Id : 630680186820 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TrIed # ¥ 0 9a & FEsw (greenhouse) 1 HFN (shape) & HUR W Figd Ag1
AT 87

Options :

FaIHe AFg38 (Quonset greenhouse)

, TeniEes hed dAg3y (Plastic film greenhouse)
2. ¥

3. % = 3t w1 @sa A=EEw (Ridge and furrow type greenhouse)



) w T T ITET AAGI3H (Saw tooth type greenhouse)

Question Number : 262 Question Id : 630680186827 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In greenhouse cultivation, ‘topping’ is an essential operation for the

Options :

1 = brinjal crop

5> % chilli crop

3. tomato crop

4 % capsicum crop

Question Number : 262 Question Id : 630680186827 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fTeBe FW A, F forT 'ff¥ Faa (topping)' T HETF T B

Options :

1% et Fr wF@ (brinjal crop)

, « &= & wHEe (chilli crop)

5 v THTE T BHA (tomato crop)



4w TAFeT B & FH (capsicum crop)

Question Number : 263 Question Id : 630680186844 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The best time for irrigating lawns is in the
Options:

1 % hoontime of day

5>  early morning

3 % evening time

4 w late night

Question Number : 263 Question Id : 630680186844 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
o Fr T=E & T gew 3=or 5 T 2T gl

Options :

| % GI9EL FT FAY

2.¥ 2 -1

3 % UMH F AT



4 % X TF F TAT

Question Number : 264 Question Id : 630680186845 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

For ameliorating acidic situations in lawns, lime should be applied at the rate of;

Options :

| % 50-100 g/m?

3« 200 -300 g/m?

750 - 850 g/m?

Question Number : 264 Question Id : 630680186845 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ol & g Feafet (acidic situation) @ Furet & fore, a & ¥ T T AT

Options :

| % 50-100 g/m?

, % 550-650 g/m?

5 » 200-300 g/m?



4 = 750-850 g/m?

Question Number : 265 Question Id : 630680186850 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which phase of the solar dryer construction, parallel strings must be drawn tightly between the laminated parabolas at

2510 7.5 em intervals?

Options:

1. % Construction of mirror framework

5> % Support framework design

3. % Construction of drying tray and tray support

4.+ Installing the aluminium foil reflection surface

Question Number : 265 Question Id : 630680186850 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

BT o AT (solar dryer construction) % fm wRor # Afmcs Srelew (aminated parabolas) %
9 25§ 7.5 cm & FE T FAR SN (strings) F FF 7 G AW

Options :

| % YT S5HE (mirror framework) =T faaToT

, « T hHIF fEamEa



5 « ST ¢ (drying tray) 3T € T (tray support) T faaor

, o TEEAHEH qUTt R 5 T FIT

Question Number : 266 Question Id : 630680186851 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following treatments is necessary for vegetable drving?
Options :

1 % Colouring
> % Brining
3 « Blanching

4 % Cheering

Question Number : 266 Question Id : 630680186851 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ferafefa # & la-ar 3R §fesal & ot (vegetable drying) & forT smawaw g 27

Options :

1 % IS (Colouring)

, % AIUIAAIA (Brining)



3  Udela (Blanching)

4 % HAfET (Cheering)

Question Number : 267 Question Id : 630680186857 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

‘Bamboo poles with net attached’ are used for harvesting which fruit crop?

Options :

1 % Papava

5 % Grapes

3. # Banana

4. Mango

Question Number : 267 Question Id : 630680186857 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A T A & TH F 3T FE B I FEA A FR F T AT 7w 22

Options :



Question Number : 268 Question Id : 630680186872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Hypertrophy caused due to the action of root-knot nematode is:

Options :

1. % Increase in cell number
2« increase in cell size
3. % decrease in cell size

4. % decrease in cell number

Question Number : 268 Question Id : 630680186872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

HA-TS GIFTH (root-knot nematode) it f3ram & FroT gt amelr Hfesfi g gl

Options:

., FRE TEw R

, o PR 3ER H JE



3 % THIART HFT F FAr

4 % TITIIHRT FEAT H FHAT

Question Number : 269 Question Id : 630680186878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Beet necrotic vellow vein disease is due to:
Options:

1 % fungus

2. % bacteria

3.« Vvirus

4 % ycoplasma

Question Number : 269 Question Id : 630680186878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
e qiaerer drelt T T (Beet necrotic yellow vein disease) F FI0T 3 ¢

Options:

heh{Hcdl

1.% 52575

FEToT

2_%5 =]



Question Number : 270 Question Id : 630680186880 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are summer season annuals?

Options :

1 = Kochia and pansy

5> % Gaillardia and larkspur

3« Kochia and gaillardia

4 % Verbena and coreopsis

Question Number : 270 Question Id : 630680186880 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
frfaf@a 7 & Fi9-8 fe7 7g F 99 §2

Options:

1. % ﬁﬁ'ﬂT}ﬁTﬂﬁ



. rerfEar i s

3_¢ﬁﬁm}ﬁ'{ﬂﬁTﬁTﬂ

4. % o7 T IR

Question Number : 271 Question Id : 630680186890 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The pureline concept was proposed by Johannsen (1903) in which crop?

Options :

1.« French bean

2. % Indian bean

3 % Cowpea

4. % Pea

Question Number : 271 Question Id : 630680186890 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

SR (1903) F 57 o # € FUFA FH HIUROT FEAfad & o2

Options :

v B A



Question Number : 272 Question Id : 630680186897 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Globally, the breeding work on citrus was first carried out by:
Options :

1 = VS Rangacharlu. RC Bhujanga and MA Veeraraju

> % LERippen and EJ Fuller

3. % Z Samisch and A Cohen

4 v WT Swingle and HI Webber

Question Number : 272 Question Id : 630680186897 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
a9 T W, TR (citrus) W T4 FE FaG T2 forwsr ganr fmam amr an?

Options :

_— 9T Fﬂiﬂ?i, . Sﬁ?ﬂ i . a°|'{'|TIG[\ (VS Rangacharlu, RC Bhujanga and MA Veeraraju)



- vers. ROer 3 $.3. TR (LE Rippen and EJ Fuller)

5 « 5. WAY 3N T PR (Z Samisch and A Cohen)

4 Seeg &1, fEaerer 3R T A a9 (WT Swingle and HJ Webber)

Question Number : 273 Question Id : 630680186902 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which biodynamic preparation is oak bark (Quercus robur) used?

Options :

1 % BD 504

5> « BD 505

A

3 % BD 506

4 % BDS507

Question Number : 273 Question Id : 630680186902 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
SI-TT (Fd UN) F 3999 57 sisw=as aeEr 7 G smar 82

Options :

| % BD 504



, » BD 505

5 % BD 506

4 % BD 507

Question Number : 274 Question Id : 630680186909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In honey bees, the nutritive food ‘royal jelly” or ‘bee milk’ is produced by:
Options:

1 % mandibular gland

5> « lateral pharyngeal gland

3 % cephalic salivary gland

4 % thoracic salivary gland

Question Number : 274 Question Id : 630680186909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

ARG & N SR I S T A @ gy ¥ 3097 gl £
Options :

- forge #fr (mandibular gland )



2. 919 TTAT A (lateral pharyngeal gland)

5 % RRET &R I (cephalic salivary gland )

4 % T A T (thoracic salivary gland)

Question Number : 275 Question Id : 630680186916 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Kalipak is a processed product of:
Options :

1.« arecanut

2 % coffee

3. % coconut

4. % COCoa

Question Number : 275 Question Id : 630680186916 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTeTTH F TFH THEFT 3G ¢

Options :

TqoTer

1. 2



==

Question Number : 276 Question Id : 630680186917 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sajurasin is a fermented product of:
Options :

1 « Vvegetables and rice

> % Vvegetables and milk

3. % cauliflower

4 % turnip

Question Number : 276 Question Id : 630680186917 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HrE (Sajurasin) T TF hivad 3c91e 7l

Options :

LJMﬁTW



Question Number : 277 Question Id : 630680186929 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Chinese potato belongs to the family.

Options :

1. % Brassicaceae

> % Convolvulaceae

3.« Lamiaceae

4. % Solanaceae

Question Number : 277 Question Id : 630680186929 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

et 3l TRER ¥ FafA B

Options:

«T8Tdr (Brassicaceae
'|_ )



Hearegerdr (Convolvulaceae)

2. #®

5 ATAIMEr (Lamiaceae)

4 » FOHEr (Solanaceae)

Question Number : 278 Question Id : 630680186947 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT used in canopy management of fruit crops?
Options :

1 % Training and pruning

2. % Rootstock

3. % Growth retardants

4. + Herbicides

Question Number : 278 Question Id : 630680186947 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fralof@a # @ RFEer 390RT B GHT & A oUT § A4 T AT 87

Options :

|« STRwETT 3R Gers



7 % BCEIh

5« TE FEF

4 2TehaTal

Question Number : 279 Question Id : 630680186981 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Cumin belongs to the family.

Options :

1. # Poaceae

5  Apiaceae

3. % Araceae

4. % Azoaceae

Question Number : 279 Question Id : 630680186981 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
ST oiEr & wafoa g

Options :

| » TITHr (Poaceae)



, » O (Apiaceae)

5 % QUUHT (Araceae)

4 % TSITHT (Azoaceae)

Question Number : 280 Question Id : 630680186991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Crops are protected from bacterial infections by spaying:

Options :

1.« vermi-wash

5> % Vermicompost

3. % bone meal

4. % safflower cake

Question Number : 280 Question Id : 630680186991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
* foza & wHaT F FE0] THAUT F FATA A1 g

Options :

1« FAT Frer



2 % TAT FFE

5, x FET
4. % 22
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Question Number : 281 Question Id : 630680186992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct about theories of learning?

Options :

1 = Classical conditioning was given by Skinner

> % Operant conditioning was given by Pavlav



3.« Connectionism is related with Thorndike

4 w Field theory was given by Watson

Question Number : 281 Question Id : 630680186992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HIH F AeEar & g9y § Aol § ¥ #iF-w w9 w58 2

Options :

|y ETATed Heked #1 Sfaves ffwat (Skinner) SaRT A o
- fraaga sewpoe &1 gfades g (Pavlav) garT fasar smar o

; v TUISAATE UT=STS% (Thorndike) & Fafoa &

4 % & =g areaa (Watson) garr sfawfea fFar amr ar

Question Number : 282 Question Id : 630680186993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true about teaching-learning resources used in the teaching process?

Options :

1 % Resources that involve the sense of hearing are known as audio-visual teaching-learning resources.

> « Bulletin board, overhead projector and slides are visual teaching-learning resources.



3. % Resources that involve the sense of vision with sense of hearing are known as only visual resources.

4 % Puppets and film projectors are visual resources.

Question Number : 282 Question Id : 630680186993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Rveror sfgmar & wgaa Revr-3ftmm FeE & §9 7 S99 F99 T 87

Options:

| s T G 1 ATHA N 3T WO A 412 e A Fe & §9 A S AT gl

- qafes 813, Hatgs WeteeX AR Fomgs T feror-afems g 2

3w § FER e A e & Wy T o SR A ¢, W 0 T § 89 8 W o 4

4w FeITer AR fhed dieieet 720 U gl

Question Number : 283 Question Id : 630680186994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct about multilingualism in India?

Options :

1« Multilingualism is sustained by social institutions.



w Multilingualism is the result of anti-social activism.
3 % Linguistic features transcend political boundaries.

4. % Indian multilingualism is tripolar.

Question Number : 283 Question Id : 630680186994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ol 7 @ #i9-u1 Ree a7 g (multiingualism) & T il

Options:

ST WA HEATH CERT HIH ¢

1.4

- agﬂﬁmmmmmﬁmma:rtﬁmmh
3 % mﬁrwaldmﬁmﬁmﬁaﬁmﬁ

. Wagmﬁwﬁ%a‘m%

4,

Question Number : 284 Question Id : 630680186995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is INCORRECT about Language Across Curriculum (LAC) ?

Options :

1 = LAC is an approach to teaching and Learning



5> « Content learning is prerequisite for language learning
3. % LAC mainly implies to develop language competency cross through all the subjects,

4 % Language and learning are interrelated.

Question Number : 284 Question Id : 630680186995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
F=RBT # ¥ Fi9-97 fTweT Tsusd # o9 (LAC) & §99 H Tod 87

Options :

| = LAC famyor 3t 31fems 7 v zfeewror g

| 8T ST & o e sfee qEha 2

- LAC &7 &9 # weft fawal & arems @ w1 degan & sl = &1 w3 ¢

4 % T HRT HEeH RER @afEd g

Question Number : 285 Question Id : 630680186996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

An organised body of knowledge with a logical structure, a network of concepts and generalisations that explain the

relationships among a body of facts, can be termed as:

Options :



1« discipline

> % epistemology

3 % subject

4 % andragogy

Question Number : 285 Question Id : 630680186996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

W T T & T 7 7 & FAST w7, T FTUROTH I TAHT # F e 2
3 et & P & &9 geu f e w7 E W A g T

Options :
1.¢ i TG
5> % FATAHIATET

3_@5%@

4 % SISTART JoTelr

Question Number : 286 Question Id : 630680186997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



What is the most essential subject, through which, one not only acquires knowledge, but also organises thoughts and
ideas for effective communication?

Options :

1. % Social studies

2. % Science

3 Language

4. % Mathematics

Question Number : 286 Question Id : 630680186997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Ty e Rvw #a-w § e Aevw € afds 7 F99 99 9o R 8, 8o 9§ &
fore foemdt it el &1 et o & o7

Options:

1 % WHANSS FeqT

5 % T

Question Number : 287 Question Id : 630680186998 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

The intrinsic notion of femininity and masculinity is created by:

Options :

1. % the nation
2« God

3 % soclety

4. % nature

Question Number : 287 Question Id : 630680186998 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

s #R ves $r 3aRs uroT RS gERr a2

Options :
1. % o

5 v X

3. % HHANT

4% TES

Question Number : 288 Question Id : 630680186999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

National Rural Health Mission, Sarbasiksha Abhiyan, and Right to Education Act, are examples of which type of gender

policy?
Options :

1« Gender-neutral policy
5> % Gender specific policy
3. % Gender-blind policy

4 % Gender-centric policy

Question Number : 288 Question Id : 630680186999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TeétT g weey e, g A Ak Rer @ wRew e, B s & e A
% R 7
Options :

1 ¢ SST-wgger qiferdr (Gender-neutral policy)
2. % sy Ffafthes drferdr (Gender specific policy)

3. % sT-semgE diterdr (Gender-blind policy)

4 » AST-HfgE difordr (Gender-centric policy)



Question Number : 289 Question Id : 630680187000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is INCORRECT with reference to the knowledge system?

Options :

1« Aristotle called knowledge justified truth’.
> % Dewey denotes knowledge as ‘inference from truth’.
3 % Knowledge can be understood in terms of enlightenment.

4 % Knowledge is true belief accompanied by a rational ground.

Question Number : 289 Question Id : 630680187000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
T JUTEr (knowledge system) F T & Pafaf@a & ¥ Fi9-ar Reey 7o 2

Options :

| 3RT (Aristotle) = AT FT FOOET T FeT B
, » 31T (Dewey) A & 'Hed & INOMH' & &7 # AFa & 2|

5 % AT P OACHAAS F HEGH A FHST S FohaT gl

4 % FH TH THTIT HYUR & TTY oo Feard g



Question Number : 290 Question Id : 630680187001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Knowledge can be conceived as experience organised through language info patterns of thoughts (or structures of
coneepts). Who advocated this?

Options :

1 = Kothari commission (1964 - 66)
2 % NEP 2020
3 # NEP 1968

4.« NCF 2005

Question Number : 290 Question Id : 630680187001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T F (AR % et (I FEROTHT Y FA) H A 5 AR § FST FTHE & W F A A
T §1 7 o gam g

Options :
| x IS AT (1964-66)
, % TESET 2020 (NEP 2020)

. » TEdT 1968 (NEP 1968)

4 UAETE 2005 (NCF 2005)



Question Number : 291 Question Id : 630680187002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Why do teachers need to know about assessment in the classroom?

Options :
1 % Tolnow whether institutions and teachers are effective and deserve continued funding.
> % Toknow whether students are adequately prepared for their careers.

3.« [0 know whether students are attaining the intended learning outcomes and effective teaching is being performed.

4 % To gain certification of a level of achievement.

Question Number : 291 Question Id : 630680187002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

freterl & T F Heatha & HET H A HT IFETFHAT T g7
Options :

|« TE TS & o F ane AR e s § AR e Pftee F 9w )

5 TE AR & e & gt s Ffaw & R g2ies w9 @ dar § @ a4

5 o T T & o o et sfiom st oftoms oo o % § ot e e e o @

4 % JIAT & T & AU 9°d a1 & [T



Question Number : 292 Question Id : 630680187003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is INCORRECT about assessment as learning?
Options :

1« Insucha type of assessment, comparison with others becomes necessary.

The learner compares his'her own previous learning achievement, and his/her aspirations and targets for continued

5 % leaming

In assessment as learning, the learner himself'herself inifiates assessment process with the objective to achieve some

3. % goals he/she has set for himselfherself

4, % Assessment as leaming includes self-assessment by learers to take informed decisions about their own learning,

Question Number : 292 Question Id : 630680187003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
A F T F Touiea & Toy F Teaeiea & ¥ FiF @ e 82

Options :

| o T8 TR a—THﬁﬁﬁiﬂwl ﬁa;aﬁﬁgammawg’rmﬁr%

fvemet arelt el e Fvatey ﬁ?ﬁid{ﬂ%ﬁ%ﬁﬁﬁﬁﬁﬁﬁ?ﬂﬂ?ﬁw
5 % &gl



¥ & w9 & e A, Rt w=w i o e 5o o B T aw S R @
Tl T3 < T 2|

HTH & T H Ardea A RETa g@n & & AR & §9Y § God WU o & (o0 -
. T ST ¢

Question Number : 293 Question Id : 630680187004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The major support for inclusive education came from the 1994 World Conference on Special Needs Education held in

Options :

1w Bali, Indonesia
5> « Salamanca, Spain
3 % London, England

4. % New Delhi, India

Question Number : 293 Question Id : 630680187004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

1994 7 yfeT Ry e smereas W g wees & gaed R (inclusive
education) & T o7 Fwd e &l

Options:



| w ST, FEATET

2. dlidlAlAen], Y

4« 7% feeh, s

Question Number : 294 Question Id : 630680187005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which teaching-learning strategies should NOT be used by a teacher in the inclusive classroom?

Options :

1 % Cooperative learning and peer tutoring

5> % Problem based approach

3. ¢ Implicit instruction

4 w Project based learning approach

Question Number : 294 Question Id : 630680187005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
e e qamr gAReh e & Fa-a Rt ol & 3w A& R S e

Options :



| TES RNeT0r 3R WA g
2. ® THTAT AT TToaehuT
5 v Hafafea @cer

4 % RIS HTemig fRrevor gieeemoT

Question Number : 295 Question Id : 630680187006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of concrete operational stage given by Piaget?
Options:

1« Egocentric thinking
> % More logical and systematic thinking
3w Reversibility of thoughts starts

4 % Inductive thinking

Question Number : 295 Question Id : 630680187006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TG H W PA-81 [ahed MU GaRT & 7§ AT HIeUTcAS HaET H UV A 67

Options :



| v HTcHHigT T

, » Ao arfees 3R coafayg =

T=r Fr AT EIATT

4 % HETHATCH® A=

Question Number : 296 Question Id : 630680187007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct with respect to theories of growth and development?
Options :

1 = Psychosocial development theory was given by Having Hurst

> % Development task theory was given by Erik Erikson

3 % Moral development theory was given by Kohaler

4.« Moral development does not start from the birth of a child

Question Number : 296 Question Id : 630680187007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Ifz 3k Rew & Red & gey & B=RRa § @ g 799 7

Options :




. TS Fere # e gfeT g8 (Having Hurst) aRT Sfariea fwam amar o)

.. a@ma w7 f@a ofite thewa (Erik Erikson) 2arT wiawfed faar #mam o)

. #fas faemm # f@ara Fgew (Kohaler) Zamr gfawrfea fmar smar o)

, o Rerm 5= F 5o F @ 4% A8 @ g

Question Number : 297 Question Id : 630680187008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Inclusion of art and drama in education is well supported by which theory of intelligence?
Options:

1« Howard Gardner’s theory of multiple intelligence
> w Thorndike’s theory of intelligence
3 % Guilford’s theory of intelligence

4 % Spearman’s theory of intelligence

Question Number : 297 Question Id : 630680187008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

e & For AR A F FEEAA e F FE e @nr wAla 82



Options :

v giag IMeaAT (Howard Gardner) & sgafe e

uTiETs® (Thorndike) & gfE &1 REE

2. %

Rrerwrs (Guilford) @ gf& @ &=

3. %

TIRRAT (Spearman) & i & e

Question Number : 298 Question Id : 630680187009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an INCORRECT statement about drama and art?

Options :

Integrating drama and art in school curriculum, means making connections between the school subjects and forms of art

1 s expression
5 % Process-oriented drama focuses on learning about life through dramatic methods.
3. Simulation and role play are techniques of art forms.

4 % Artforms are created by different artists belonging to different cultures.

Question Number : 298 Question Id : 630680187009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
PoRT # ¥ FI9-0T U7 AcF AR Fell & 9T H TF Tod FIT 87
Options :

ol ToTHA & A AR Fo1 3 TG H a1 Y § Fd o [49A AN e e b w5
1. % 3 FE T

- Siar-3e0E e, AeHT alle & fEa & aN # FIE W Hd 2

B'JHWWﬁTmﬂﬁﬁﬁT{mle play) el F@T T Tehaileh &1

4% Rftes Trgpladr ¥ wad Rt ForeRt ganr For w9 & GHwT B o gl

Question Number : 299 Question Id : 630680187010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an objective proposed by NCF 2003 at high school level for teaching of English?

Options :
1 % The competence to understand what she hears
5 w Ability to read with comprehension, and not merely decode

3  Expression with great effort

4 % Sclentific study of language

Question Number : 299 Question Id : 630680187010 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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7 87
Options :

- IE ST GAAT § 3Y THAS Hr T

, » WA F WY 9ed, 7 & Fao Bhs e & &7

5 T3 YIH ¥ Hieaed

4. % ST FT SANAF HeTTA

Question Number : 300 Question Id : 630680187011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a method of English teaching?
Options :

1. # Direct Method

5> « Linguistic Method

3. % Grammar and Translation Method

4. % Reading Method



Question Number : 300 Question Id : 630680187011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FaofEa 7 ¥ Fig-ar Teer 3T R F B 75 32

Options :

|« FcTeT f&afdr (Direct Method)

, » TS B (Linguistic Method)

Ly SHTERTOT 3T FHgate &fer (Grammar and Translation Method)

4 » Toa faf&r (Reading Method)



